Roll NO. v Total Pages : 3

BAE/S-17 01-S
ENGLISH
Paper - A

Time : Three Hours] [Maximum Marks : 40

Note : All questions are compulsory.

1. (a) Explain the following with reference to the context :
Let me not to the marriage of true minds admit
impediments. Love is not love which alters when it
alteration finds, or bends with the remover to remove.

OR
All human beings are subject to decay,
And when fate summons, Morarchs must obey,
This Flecknoe found, who like Augustus young
Was called to empire, and had governed long; 4
(b) Respectfully but firmly, I disagree. Love is a great force

in private life; it is indeed the greatest of all things; but
love in public affairs does not work. It has been tried
again and again : by the Christian civilizations of the
Middle Ages and also by the French Revolution.....

OR

Given a preference for boys over girls that many male-
dominated societies have, gender inequality can manifest
itself in the form of the parents wanting the newborn to
be a boy rather than a girl. 4
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2. Answer in short any five of the following : 3.

(2)
(b)
(©
(d)
()
®
(8

()

(a)
(b)
(©)
cy
(e)
®)
(8)
(h)

What comes within the compass of ‘Time’ ?

Name the poet of the poem ‘Death Be, Not Proud’.

Where was the little boy born ? (The Little Black Boy)

Explain “Great Lord of all things, yet a prey to all;”

‘All’s over then,” What is over ?  (The Lost Mistress)

Where is God found, according to Tagore ? 4.

How can we make the world better ?
(Laugh and Be Merry)

Who are the two neighbours in the poem ‘Mending
Wall’ ?

OR
What good things have machines done for us ?
Apart from poetry, what else did Mahadevi write ?
What does Nehru say about Gandhiji ?
Name the four Varnas Manu talks of.
Why did Della require the money ?
Who was the banker ?
How did Ratan remember her family ?

Describe the ‘sheer animal beauty’ of Pagli.  (1x5=5)

(a) Attempt a critical appreciation of
Let Me Not to the Marriage of True Minds
When You Are Old.
(b) Summarize the story ‘The Postmaster’.
OR
What message does the story convey in ‘The Refugees ?

(Tx2=14)

What is Nehru’s message to the children as given in the
chapter ?

OR

What is the principle of graded inequality on which the
Hindu social order is based ? 8
Do as directed :
(a) Affection (Change into adjective)
(b) Use correct form of the verb :
I this movie last week. (see)
(c) Glorious (Change into noun)
(d) Blood (Change into verb)
(e) A (learn) speaker. . (1x5=5)
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ENGLISH-B
Time : Three Hours] [Maximum Marks : 40

Note : Attempt all questions.

Attempt any fifteen of the following sentences :

(a) Fill in the blanks with proper articles wherever needed :

(i) John is E_ and has to go to _______ hospital.

(i) I feel tired, as I went to ____ bed late last
night.

(iii) The door was opened by ________ servant.

(iv) It gives me _____ pleasure to do it.

(v) 1like to give _______ useful present.

(b) Fill in the blanks with appropriate prepositions :

(@ Tam ________ your beck and call.
(i) The frog jumped _____ the pond.
(iii) She is senior ____ me.

(iv) There was a cigar ______ his lips.

(v) Itistwo my watch.
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(c) Supply the correct form of the verb :
very tall. (be)

(i) Agastya

(i) Aarushi novels. (write)

(iii) Bread and Butter his usual breakfast. (be)

(iv) Many American workers (go) to work

in their own cars.

(v) My servant me two weeks ago. (leave)

(d) Do as directed :

(i) Thelady
hearted lady.

we call an angel is really a large-

(who or whom)

(i)) They lost of their property.

(much or many)

(iii) We shouted many times but there no
answer. v (was or were)

(iv) Three cars were involved in the accident.
(Introductory these)

(v) The thing that killed him was drink.
(Anticipatery it)

15

2. Read the passage and answer the questions given at the end:

Games give us not only physical exercise but mental training

also. They train both our body and mind. Physically, we

become healthy; mentally, we become disciplined. We
02-S/5,300/KD/132 2

become healthy both in our body and mind. A player has to
follow the rules of game. In the field, he acts like a
disciplined soldier. This sense of discipline becomes a part
of his character. He develops respect for laws and rules.
Thus games help in making a man a good citizen. 8

(a) What do games give us ?

(b) How does a player get benefited by games ?

(¢) To whom is a player compared with ?

(d) What is the part of player’s character ?

Write a paragraph in about 100 words on any one of the
following :

(a) Hobbies.

(b) My Favourite Book.

(c) A Visitto Historical Place.

(d) Role of Computers in Life. 5

Write a letter to your friend encouraging him to take part in
social work.

OR

Write an application to the college principal for merit cum
means scholarship. 5

Translate the following into English :

7
ﬁﬂdmﬁwﬁ%a"%ﬂ%%ﬂﬁﬁ
ﬂi_ﬁmﬁﬂaﬂmﬁ%%mﬂmﬂ%%
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7. frofafae v &1 s Gfe:
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8. TEEO YW W | | ¥ IW AT
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(@) gl St % WieftEs d@ed w1 iy b
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FF (fgdren, garn, =geff favfs)

A (R, TouH, WS faufe)
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BAE/S-17 08-S
HISTORY OF HARYANA
(From Harappan Age to 1966 A.D.)
Opt. (ii)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt four more questions, selecting one
question from each unit. All questions carry equal marks.
The part relating to the explanatory note on map will
carry full marks for visually handicapped candidates.

M : T U T B IW AU T wen | e
%ﬂzi%aﬂﬁﬂmﬂmm@nﬂﬁamﬁ
T AT /st vt = ofw wum ¥ Y iy
3 fog mfer wEmd fowh o o B s
ul

Compulsory Question ( 3tfart wyT)

1. Choose the correct answer for the multiple choice questions.

Each question carries 2 marks. (8x2=16)
TEfore T ® AT 98 ISw g vew w2
HF @ B
(a) Who wrote ‘Ain-a-Akbari’ ?

(i) Faizi

(i) Akbar

(iii) Jahangir
(iv) Abul Fazl.

08-S/1,750/KD/137/Map of Haryana . {P.T.O.



| F ot
" ® =

‘R aTeRed

G @S oA

(i) FFIR A

(iii) SEMR 9

(iv) ¥EE wEA Al |
(b) Total number of Puranas is

i 4

() 12

(iii) 18

(iv) 22. s

Ui ®Y H/A HEA

i 4

Gi) 12

(iii) 18

(iv) 22. .
(¢) Who wrote ‘Harsha Charita’ *

(i) Kumargupta

(i) Banabhatta

(iii) Bhandi

(iv) Kantak. |

‘eiefE # oEF A €7

(i) HEARTA

(i) T

(iii) STUEY

(iv) F=H| )

08-S/1,750/KD/137

(d) When Mohammagd Ghori died ?
i In 1206
() In 1210
(i) In 1526
(iv) In 1556,
TR W 9t 5oy o T o
@ 1206 ¥
() 1210 &
(i) 1526 o
(iv) 1556
(e)

(i) 1556

(iii) 1568

(iv) 176].

T F g ke i
() 1526 %

(i) 1556 &
(i) 1568 ¥
(iv) 1761 W

om-m\rwmo\wﬁuhuu [P.T.O.



®)

George Thomas hailed from

(1) Ireland

(h) Where Mahatma Gandhi was arrested in Haryana in
1919?

. (i) Rohtak.
(i) England
(i) Hansi
(iii) Scotland (i) Karnal
(iv) Hansi. (iv) Palwala,
SIS 2mw geE: FwE A wEta 9 1919 ¥ whamm § wETE wh wE fRew fRR
i) SIS 4?
) ¥vE () eTF o
(i) EER A
(iii) THIZETT
: (ili) FAA H
(iv) .
(iv) JeEe HI
(g) The Revolt of 1857 in Haryana started from
(i) Panipat UNIT-I (¥&TE-1)
(i) Ambala 2. Analyse the main features of the Harappan civilization in
(iii) Rewari Haryana.
(iv) Karnal. T A gew e w1 wgE et w1 fawersm
famm #1857 # Wi o gE ot P 16
() UHE | 3. Who were Yaudheyas ? Discuss their political setup in
Gi) ST 9§ Haryana.
T FW 97 TET F s wEtE e w1 ol
(ii1) .mm._.mw 7
Fife 16
(iv) FEE 9
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UNIT-II ( 3hT3-11 )

Describe the invasions of Mohammad Ghori. What were the
effects of his invasions on Haryana ?

TR T ® STl W faeRw SR SO T
® R W = oy w27 16

Discuss the social and economic condition of Haryana under
the Mughal period.

HTAwT gRamon #) wmafss 3 onfds 9 %1 v
FIT 16

UNIT-II ($&h-11)

Describe the spread and impact of Arya Samaj in Haryana.
AT o w9 % famm qen ywE w1 vl s

16

What role was played by the people of Haryana in Non-
Cooperation Movement ?

FEEM e W OEREn ® @ ¥ s qftr e
oft? 16

UNIT-1V (T&FE-1V )

On the outline map of Haryana, show the important Urban
centres during the Mughal Period. Also write an explanatory
note.

08-S/1,750/KD/137 6

mﬁgﬂﬁ-gﬂmﬂﬂaﬂaa%ﬁi
% wvien) T s o s fare

] of
On the outline map of Haryana. show the major centres

the Uprising of 1857 in Haryana. Also write an explanatory

te.
“ﬂa%w@-nﬂ@mﬂ.%ﬂém&ﬂ%%%
%%%_Aﬂﬁ@ﬂﬂ@ﬂ%&@@m_
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BAE/S-17 09-S
POL2ITICAL SCIENCE
(Political Theory Concepts)
Paper-II
Opt. : (ii)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions, selecting at least one question from

each part.

AT TEE I W FH Y FHGE W F T B

FA e T H SRS

PART-A ( €T-37)
What is ‘Political Theory’ ? Discuss its significance and
utility.
Terifow fagr R we & wa 7Ew iR SwfE
¥ IrE H 16

Define Authority. Discuss its different kinds.
T F g FaRwl s9E RE-fE e st =men
Exy 16

Write a note on Legitimacy.

Jud W T AR fera 16

09-8/1,350/KD/138 [P.T.O.



Define Political Culture. Discuss its kinds.

T depla w1 aRaw AT e TER S S
Exdl 16

PART-B ( 9T1-%)

Write notes on the following :
(a) Political Participation.
(b) Political Modernisation.

frafafas w e fafan :
(%) TsHIfaE  FEIRm
(@) ToHIaE  STfep iR

What is meant by Political Development ? Discuss its different
aspects.

THifss fgem w1 F=n o 27 TEw fafu= wed &
T 16

(8x2=16)

What is meant by National Integration ? Discuss the steps
taken for National Integration in India.

T TEF F o e 27 3 q@ H oA FOA

oA ¥ T TEE B fAr e T 16

Write notes on the following :
(a) Meaning of Consumer Protection.

(b) Rights of Consumers.

09-S/1,350/KD/138 2

Frefafas w A fEfEc:
(F) Iusirea W0 HT )

(@) 99T F SRR (8%x2=16)

PART-C ( ¥TT-9)

Short answer type questions. Attempt any four.
(a) Concept of Power.

(b) Difference between Power and Authority.
(c) Types of Political Participation.

(d) Nation Building.

(e) Political Socialization.

(f) Problems of Consumers. (4x4=16)

FeTd v Rl aw # sW i
(F) i &1 FFYRIM

(@) v 3 ¥ H I

(M) TR FEiE ® YRR

(%) -

(T) ToETas  HH N

(9) YT F FEAT

09-S/1,350/KD/138 3 [P.T.O.



10. Objective type questions. (c) Power and Authority

THAS 9T | (i) oppose each other

. . (i) are two separate concepts
(a) Who introduced the four elements of Political Theory ? .
(iii) are the different names of one concept
@ Aristotle (iv) No relation between the two.

(i) Laswell

v ik w=
(iii) Plato
(iv) Fredrick Polak. () wER feh ¥
Toifer fag ® WR T fRe we@ fRT 92 (i) ¥ JoF uRome ¥
(i) E (i) TF & URom ® T 99 ¥
() e (iv) TA1 ¥ FE T TE P

(i) ==
(iv) $feF T

(b) Which of the following is the element of Power ?

(d) Who wrote ‘The Managerial Revolution’?
(i) Mosca

(i) Pareto
(i) Poverty

(i) Unemloyment (iii) David Easton

(iii) Knowledge (iv) Laswell.

(iv) Hiteracy. ‘The Managerial Revolution’ &% & @F €
i - ?

= A ¥ FR-m o whR oW o 3 G e

i) TEE

© (i)

(i) TFW ,

Gii)y efaE =R

(i) M

(iv) Treram (iv) S

09-S/1,350/KD/138 4 09-S/1,350/KD/138 5 [P.T.O.



(e) Main defect of Bureaucracy is

()

(i) Formality

(i) Red Tapism

(iii) Passion for Power

(iv) All the above.

TFARME H THE A

G) e

(i) A BRI

(i) wfE emaEm

(iv) ST g

In which year ‘Political Culture’ word was introduced ?
(i) In 1926

(i) In 1943

(i) In 1956

(iv) In 1971.

‘Tefoe IR’ TR w1 yam wEyem we fEen
AT A7

i 1926 H

(i) 1943 H

(i) 1956 H

(iv) 1971 Hl|

09-5/1,350/KD/138 6

(8) ‘Nation’ orginated from ‘Natio’. From which language

(h)

it is derived from ?

(1) English

(i) Latin

(iii) French

(iv) Italian.

T MR F INE A = W b 9w g
o ® fem mn 82

(i) oS

(i) e

Gii) B

(iv) 3

‘National Integration Council’ was re-established in
i 1977

(i) 1978

(i) 1980

(iv) 1968.

i 1977 H

(i) 1978 H

(iii) 1980 H

(iv) 1968 HI

09-S/1,350/KD/138 7
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BAE/S-17 10-S

SOCIOLOGY
(Introduction to Sociology)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt four questions by selecting one question from
Unit-I to Unit-IV. Q. No. 9 (Unit-V) is compulsory. All
questions carry equal marks.

W : THR-I W IV TOF § TH-UF WA TR T AR
T ® SW AU YW W 9 (TEE-vV) st
T T ® ofF wm ¥
UNIT-I ( 3&1E-1)
1.  Define the term Sociology. Explain its significance and scope.

16

TS F g S o "R 3 fywR €9 %
U wmifsg|

OR (319ar)

2. Discuss the relationship of Sociology with Economics and
Political Science. 16
THSRIES & e T UoHifa faam & @ g9y =0
=49 HifwQ)

10-S/700/KD/139 [P.T.O.



3.

UNIT-II (3eRTE-II )

What do you understand by Primary-groups ? Also explain
the merits and demerits of primary groups. 16

ﬂﬁﬁﬂﬂw@ﬂaﬁqﬂﬁwwamﬂﬂ%%
q&.ﬁu&ﬂ&ﬂﬂﬂé

OR (31yan)

Define Social structure., Discuss the elements of social
structure. 16

Qﬂﬂﬂﬁﬁﬂﬂﬁﬁﬂﬁﬂdﬁﬂﬂﬂqﬂﬂ%ﬂ
F == Fifw

UNIT-II (3eTE-111 )

Define Marriage and also explain the various types of
marriages. 16

gﬂ%ﬁ%%g%gﬂﬂaﬂ
== Hifsu

OR (319an)

What do you understand by Kinship ? What is the role being
played by the Kinship in society ? 16

iﬂ@%ﬂﬂﬁwwﬂam%wﬂ%ﬁ
I e s w2

10-8/700/KD/139 2

Q'

UNIT-1V ( §&TE-1V )

Define the term Social Process and also explain about the
nature and significance of co-operation in society. 16

OR (31gan)

What is Social Change ? What are the various factors
responsible for social change in India ? 16

ﬂﬂﬁﬁqﬁﬁﬁwwﬁﬁmﬁuﬂﬂqﬁﬁﬁ
STRE Y= wrw sh-wh 9

UNIT-V (3&1E-V )
Compulsory Question ( 21faTd T97T)

Write short notes on the following :
(a) Types of Family.

(b) Nuclear Family System.

(¢) Concept of Competition.

(d) Social Mobility.

™ = e ool fag
(F) Wf@ER * wR)

(®) & 9fER o
(M) Tyl Y sFyRom

(%) 9 fss wfersfreram

(4x4=16)

10-S/700/KD/139 3



5. Give the properties of Monopoly, and give equilibrium of
the firm under Price discrimination. 16

TFVFR F1 fFEvae 96, @ wHa fasg ® ol
T4 ¥ TIEE F oAU w

UNIT-III ( S&TE-111 )

6. Give the main features of Indian economy. 16

TG refereRer 1 gen favmaet w1 guil )

7. Discuss the main economic reforms taken up in Indian
economy. 16

TR dseen ¥ fRu U qem onfE gunl w1 Al
Exy

UNIT-1V (F&E-1V )

8.  Discuss the trends in Indian agriculture and productivity since
the times of Green revolution. 16

T wf & 99 ¥ adg FE R ISOREwa #
ygfaal &1 Fuie wl

9. Discuss the importance of Small scale industries in India
and their problems. 16

@ A oY WH ® 3@ # mEw qun T SRened
F TR

12-8/950/KD/140 4

Roll No. ...covnivvciinnninn, Total Pages : 4
BAE/S-17 12-S
ECONOMICS
(Micro Economics)
Paper-1

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each unit, All
questions carry equal marks.

A Ufg ¥ ® IW SR W FEm 1 e R
TEF THE 9 WH WA 1 wEH Fiwg 9w ®
F Tom

e

.o

Compulsory Question ( 3rFard we)

1. (a) Choose the correct option :
(i) The wealth definition was given by (Marshall/
Smith).

(i) Economic problem arises due to (scarcity/
abundance).

(iii) In case of Zero elastic demand, quantity demanded
will be (constant/increasing).

(iv) Marginal utility (can be/cannot be) negative.

(v) Average revenue curve under perfect competition
is (horizontal/45 degree line).

(vi) Economic reforms in India started in (1971/1991).

(vii) Indian economy is a (centralised/decentralised)
economy.

12-S/950/KD/140 [P.T.O.



(viii)
(ix)
x)
e
(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

12th Five-year plan has the period of (2007-12/
2012-17).

Profit-oriented agriculture is (commercial/
subsistence).

Bank to meet the financial needs of small
industries is (NABARDY/SIDBI). (10x1=10)

foFres =1 @ i .

¥ Hafl wRum W oot (anfefmy) oz
Ffel® waeqr o9 713 w1 wwm @
(FRtsravIa) |

E W oA o feafs ¥ 9w owen @
(feervagmm) |

= e womEE (8 s @ wwE
)1

T s # sfeta, oiwd o Y T @
(&, 45 fea))

T H E gER (197171991 ¥) YE W
Of

T STy TE (F=Ewa )
sefsmawen 2

IREl  dEEdid A # ey §
(2007-12/2012-17) |

AN 3G F H wE WA T (RS
frafe =)

(x) oY AT 1 focfy smavEwast B @ ww
e qw } (A frea) |
12-8/950/KD/140 2

(b) Attempt any four of the following :
(i) Give the meaning of Opportunity cost.
(i) Give the meaning of an Indifference curve.
(iii) Give the meaning of Selling costs.
(iv) Give the meaning of Disguised unemployment.

(v) Give the meaning of Marketable surplus.
(1¥2x4=6)

fm 5 % 5t wm # sm A .
(1) W o &1 7 =49
(i) qE 9% #1 37 Famw)
(iii) fosra @rml =1 e =@
(iv) fodft it #1 a9 =qm)
(v) fom 3 s =1 ot =@

UNIT-I ( Z&TE-1)

2.  Define Economics, and give its nature and scope. 16

sefere w1 IR ¥ ud se v ok &% @ gvie
F

3. State and explain the Law of Variable proportions. 16

RedTeie ogu # fem w1 gvE w51
UNIT-II ( Z&TE-11)

4. Give the properties of Perfect competition and long run
equilibrium of firm and industry under returns to scale ?
16

T ST # faeivad s, qor delew § 4o @
Yo % sdafa wH A sEm @ wgew wmroav W
12-8/950/KD/140 3 [P.T.O.



(b) If o and P be the imaginary cube roots of unity, prove RO NO. ittt Total Pages : 4

that
BAE/S-17 15-S
o™ + Uqu - Imc.«\w )\W sin m X + cos U\lw x| MATHEMATICS
2 2 (Algebra and Trigonometry)
214 Paper : BM-101
. Time : Three Hours] [Maximum Marks : 27
. . a-ib 2ab
10. (a) Prove that tan|ilog — == 3
a+ib) a”-b Note : Attempt five questions in all, selecting at least one question
) from each section.
(b) Sum the series
an' i an L rant Lo o terms SECTION-I
3 7 13
and deduce the sum to infinity. 214 1. (a) Show that every square matrix is uniquely expressible

as the sum of a Hermitian and a skew Hermitian matrix.
3

(b) Find the non-singular matrices P and Q such that PAQ

2 2 -6
is in normal form, where A = L2 ol 21n

2. (a) Verify Cayley-Hamilton theorem for the matrix A and
0
compute A~!, where A=| 3

|

[\®)

—_— = O

B O -
w

15-S/600/KD/141 4 15-S/600/KD/141 [P.T.O.



(b)

Check whether the following system of equations is
consistent or not. Solve if it is consistent.

4x + 3y + 2z = -7

2x+y-4z=-1
X+2y+z=1. 2%
3. (a) Verify that the matrix A is proper orthogonal matrix
12 5
where A = 1313 . 2Vh
S
13 13
(b) Diagnolize the quadratic form
X +2x% - Tx3 - 4x,%, + 8x;x5.
Also find the rank, index, signature and equation of
transformation. 3
SECTION-II
4. (a) Solve the equation
A2 B2 C2 H2
+ + + o+ =k
x—a x-b x-c x—h
has all real roots. 3
(b) Find the common roots of the equations
P33 -5x2-6x-8=0
and x* + x> —9x2 + 10x -8 = 0.
Hence solve them completely. 2%
15-S/600/KD/141 2

(b)

(b)

(b)

(b)

9. (a)

If o, B, 7y are the roots of the equation
B+x2+2x+3=0,

form an equation whose roots are B + Y~ o, Y+ o — B,

oa+p-7. 3

Solve the equation
40x4 + 423 +3x2-1=0
by Descarte's method. 2%

SECTION-III

Find the remainder in the division of 220 by 7. 2%
Find all the solutions in positive integers of

S5x + 3y = 52. 3

If p is a prime number and @ denotes an integer such
that (@, p) = 1, then @”! = 1 (mod p). 3

Show that n'6 — g1 is divisible by 85 if n and a are
co-prime to 8S5. 2V

Find the highest power of 9 which divides 365!. 3

If n is a power of z, then prove that o(n) is odd. 2%
SECTION-IV

If a, B be the roots of x* — 2x + 4 = 0, prove that

nm
a" + B =2"" cos 3 3

15-S/600/KD/141 3 [P.T.O.



Roll No. .o Total Pages : 3

Time : Three Hours]

BAE/S-17 16-S

MATHEMATICS
(Calculus)
Paper : BM-102

[Maximum Marks : 26

Note : Attempt five questions in all, selecting at least one question

1.

from each section.

SECTION-I

(a) Test for continuity of the function

(b)

(a)

(b)

, 1
{(x —a)sin , WwWhenx#a

feo= xoa Q%)
0, when x = a.

log y
a

If x=sin m u, prove that

(1 =xdy,,, - @n+ Dxy,,; - (7* + a)y,=0. (23

Show that
h NﬂN Alwvxlw K"
x+h) =1ogx+=————=F e —————,
log ( ) 8 X 2x? n(x+06hn"
(2Y2)

Find the asymptote of the curve

2a
1+2cosB’

r=

(2%2)

16-S/600/KD/142 [P.T.O.



3. (a) Find p, the radius of curvature for the curve x = a cos3 0,
y=asin30. (2¥2)
(b) Trace the curve x2y? = a2(y? - x2) (2%)
SECTION-III
4. (a) Obtain a reduction formula for ._. e® cos” xdx . (Qun)
(b) Find the perimeter of the circle = a cos 8. (2¥2)
5. (a) Find the intrinsic equation of the curve p =rsin Q.
(2%2)
(b) Find the area of the loop of the curve a3y? = x4(b + x).
(2%2)
6. (a) Find the volume of the solid obtained by revolving
x =acos 6,y =b sin 6 about the y-axis. (212)
(b) Find the area of the surface formed by the revolution
of y? = 4ax about y-axis by the arc from the vertex to
x= 7. (2%)
SECTION-III
7. (a) Solve the differential equation
07 + 2x%y) dx + (2x3 - xy) dy = 0. (2%5)
(b) Solve the differential equation
Px-y) Py +x) =
(2¥2)
16-S/600/KD/142 2

8. (a
(b)
9. (a
(b)
10. (a)
(b)

Solve (D4 = %) y = ¥* + sin bx. (2v)
d*y d*y 1
Solve k@&u+|&ﬂuw. (212)
SECTION-IV

Solve the differential equation

QN
x.|+ (4x* - C
dx*

+ ax® y= Nx 3

Solve the differential equation by the method of
. d%y

variation of parameters : &I.Nu + y = cosec x, 3
X

Solve the simultaneous equations :

dx

= =3x+2y.

dy

0 =5x+3y. 3

Solve the simultaneous equations :
dx _ dy B dz
Xy -2 oy =i (P -y

16-S/600/KD/142 3



10. Reduce 2% + 2% + 22+ 2y~ 2zx —dxy + x + y = 0 to ROII NO. ...vvrvrrrrerrann. Total Pages : 4

standard form and find the coordinates of the vertex and ._N m
equation to its axis. 55 BAE/S-17 -

MATHEMATICS
(Vector Analysis and Geometry)
Paper : BM-103

Time : Three Hours] [Maximum Marks : 27

Note : Attempt five questions in all, selecting at least one question
from each section.

SECTION-I

-

1. (a) For any three vectors m. b and ¢ show that
Amx.q.vxﬁmxmvuﬁmm&m and hence deduce that
[bxc exa axb)=[ab o] 2.5

(b) Find an equation for the tangent plane to the surface
2x 7% - 3xy - 4x = 7 at the point (1, -1, 2) 2.5

2. (a) Findcurl (f(r) ) where fr) is differentiable and r = _m l
2.5

(b) Find fir) such that V2Ar) = 0, where 7= xf + y] + z&

and r = | r|. 2.5

17-8/600/KD/143 4 17-S/600/KD/143 [P.T.O.



5.

17-8/600/KD/143

(a)

(b)

(a)

(b)

SECTION-II

If f = 3x% + 6y)1 - 14yz j + 20xz2 k, evaluate ?..%,

C
where C is the line joining the point (0, 0, 0) to (1, 1, 1).

2.5
If f=2x%-32)i-2xyj-4xk evaluate

:....2, X £)dV , where V is the volume of the surface
v

bounded by the coordinate planes and the plane
2x+ 2y +z=4. 3

State and prove Gauss theorem. 25
Evaluate ._.._.w.mam, where f =z +x j+3y? zk and
S

S is the surface of the cylinder x2 + y? = 16 included in
the first octant between z = 0 and = 5. 3

SECTION-III

Find the nature of the curve, centre and the equation of the
conic referred to centre as origin for :

13x2 - 18xy + 372 + 2x + 14y -2 = 0. 55

(a)

A sphere of constant radius 2k passes through the origin
and meets the axes in A, B and C. Show that the locus of
the centroid of the tetrahedron OABC is the sphere
ey +2=k. 2.5

(38

(b)

(b)

8. (a)

(®)

(b)

17-S/600/KD/143 3

If two spheres of radii r; and r, cut orthogonally then

hr:
ih
prove that the radius of the common circleis [ 2~ 2~
1 Tn
3

Find the equation of the conic passing through (1,1) and
also through the intersection of the conic x2 + 2xy + 52
—~ 7x — 8y + 6 = 0 with the straight lines 2x -y -5=0
and3x+y-11=0. , 2.5

Find the enveloping cone of the sphere x2 + y2 + 72 - 2x
+ 2y — 2 = 0 having vertex at (1,1,1). 3

SECTION-IV

The normal at any point P of a central conicoid meets
the three principal planes at points G;, G, and G,. Show
that PG;: PG,: PGy =a! : bl : ¢! 2.5

Find the locus of the point from which three mutually
perpendicular tangent lines can be drawn to the surface
ax+by?+cz?=1. 3

Find the real central circular section of the ellipsoid
x2+ 2%+ 622 =8. 2.5

Find the equations to the generators of the paraboloid
(x +y + 2)(2x + y — 2) = 62 which pass through the point
(1,1,1). 3

[P.T.O.



RO NO. .o Total Pages : 3

BAE/S-17 19-S
PUBLIC ADMINISTRATION
(Elements of Public Administration)
Paper-I
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from
each unit. All questions carry equal marks.

Fe : TIF THE Y TH W I gL FA WA T R
gt g B oF g9H 2

UNIT-I (TTE-1)

1. Attempt all parts :

(a) From which language the word “Administration” is
derived ?

(b) Who presented the concept of POSDCORB ?

(c) What is full form of RTI and in which year it was
passed ?

(d) How many members are there in Public Accounts
Committee ?

(¢) What are the four basis of organisation ?
(f) Hierarchy has only merits and no demerits. True/False
(g) Line agency advises the chief executive.  True/False

(h) Decentralisation raises the morale of field officers.
True/False
16

19-S/1,250/KD/205 [P.T.O.



[t 9 Fifeg

(F) ‘v’ = fFw 9w @ fam w2

(@) POSDCORB &1 faurun f&er wd &1?

(M RT.L = @ ™ fafgn ik 77 fFg ov 9 fem

AT

(W) st orar Wiy § e wewm B €

(T) Tl % IR UK & 91 fafew

(7)) TEIR F FA A9, T T8 e /e

(D) G i T FEGEE F 9O 9 B 9

(M) foFzimm ofg ol & miea # sgm 2
QI

UNIT-II ( 3&T3-11 )

Differentiate Public administration from Private
administration. 16

%%ﬁﬂ%%%%ﬂﬂﬂ%@

Write an essay on Communication. 16

"R R & ey fafan
UNIT-III ( $hrE-II1 )

Discuss features, merits and demerits of government
department. 16

T faam ) favrares, m qen W w gvl wifi

19-S/1,250/KD/205 2

How Parliament exercises control over Public Corporations ?
Discuss. 16

oz o= el w frase fry weR i e 20
e FIfSU

UNIT-1V (F&E-1V)

Define good governance. Discuss its elements. 16

s w1 IR HfTw 9F g T w1 avie wifu

Describe composition, functions and role of Whitley councils.
16

fes Rl &1 =, 1 au fve w1 vl Ff
UNIT-V (F&E-V )

"How Budget is prepared and passed in India" ? Discuss.
9 9 Foe fmio dw wie #R o wiEm w aol
FIf

Discuss methods of Judicial control over administration. 16

weE W oAfge freeo w faie ) ==t it

19-8/1,250/KD/205 3
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BAE/S-17 35-S
POLITICAL SCIENCE
(Political Theory)
Paper-I
Opt.: I
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting atleast one question

e

from each unit. All questions carry equal marks.

TIF THEE W FH W FH UH WA T g, FHA Ul
T wow g W oiF e w

UNIT-A (F&T$-A )
Analyse the main features of Contemporary Political Theory.
16
AN UeHiae fagia #t g7 fovmast w favewm
HS |

Define State and discuss its essential elements. 16
T F1 IRamy ST qen THE Savasd awe w1 v
Hifeg|

Critically discuss the Marxist theory of origin of state. 16

T F I * favg o Aot fagia w1 AT
FuiR Hq

35-8/1,600/KD/206 {P.T.O.



4. Discuss main features of Sovereignty. 16
wEe &1 e faemad s@sdh
UNIT-B (3%T3-B )
5. Critically examine the theory of Natural Rights. 16
TElE AER ® fagm #1 sTeeEEE gHE i
6. Make a distinction between Negative and Positive Liberty.
_ 16
THRNHE 9 ThIHE SHaAd] T IR T FHifT|
7. Write a note on Socio-Economic Justice. 16
pcis D e R col AR el
8. Define the conditions necessary for the working of
Democracy. 16
Awdy & TR 'Y EYIF @ F Ioor@ HITC
UNIT-C (3%TE-C )
9. Short answer questions :
(a) Define Power. 3
(b) What is the difference between a State and Nation. 3
(¢) Make a difference between ‘De Jure’ and ‘De Facto’
sovereignty. 2Y2
(d) Who is Citizen ? 2%
(e) Define Equality. 2Y2
(f) Discuss Legal Dimension of Justice. 21
35-.8/1,600/KD/206 2

10.

AT T

(%) vfF @ &2

()T @ T2 § IR FaRq

(M ‘Fufrr’ 9 ‘oEERE TEE ¥ SRR SRy
(%) s fFe we #2

(¥) guFa w1 FuiR Hifw)

(F) =@ ® B IY F GUA R

Objective type (Multiple choice) questions. (2x8=16)

THS T
(a) Who is the father of Political Science ?
(i) Plato
(i) Aristotle
(iii) Lenin
(iv) Mark.
Torifs o @ fm ®m €2
(&) &=

(F) TH

(/) A

(%) W]

(b) Who said, “Power is the Heart of Politics” ?

(1) Locke

(i) Hobbs

(i) Burke

(iv) Bekour.

35-S/1,600/KD/206 3 [P.T.O.



(©)

(d)

‘wfe Tt W ogE -3 e fEwew €2
(37) &

(9) wfd

(|) 9%

(%) IFN

Who used the word State for the first time ?
(i) Machivalli

(i) Hobbs

(iii) Laski

(iv) Burke,

wEyem T YR w1 wEm R e e
(&) draeh

(F) wd

(]) arht

(%) &I

Who wrote, “Grammar of Politics” ?

(i) Gandhi

(i) Nehru

(iii) Laski

(iv) Marx.

35-S/1,600/KD/206 4

(e)

®

Ty # ST e e e faet
(o) et

() TE®

(W) rh

(%) A

Who supported the theory of Natural Rights ?

(i) Hobbs

(i) Locke

(iii) Roussoue

(iv) Lenin.

e sfusd ® fagha @ iR feen e
17

(3n) T

(9) |l

(§) &0

(%) =M

Which one is an element of Justice ?
(i) Dishonesty

(ii) Truth

(iii) Both (i) and (ii)

(iv) None of these.

35-S/1,600/KD/206 5 [P.T.O.



=F F TS FE-W foFma 1 Seva = 2

(30) sgAmft (37) e W IR IIM

(7)) ¥ (9) ™9 % e

(@) (&) IR (F) A () A@c IR () i

() ¥ = @ () T ¥ FE
(g) Which country has the Direct Democracy ?

(i) India

(i) France
(iii) Italy
(iv) Switzerland.
fa 2 A yoy Wy 22
() 9@
() wrE
(W) gt
() o=@z
(h) What is the Target of Development ?
(i) To raise living standard
(i) To help poor
(i) Both (i) and (i)

(iv) None of these.

35-8/1,600/KD/206 6 35-8/1,600/KD/206 7
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BAE/S-17 40-S

HEALTH AND PHYSICAL EDUCATION

Time : Three Hours] [Maximum Marks : 50

Note : Attempt five questions in all, selecting one question from
each unit. All questions carry equal marks.

AT : TOF WE Y TH WA I T, KA U WA &
I A v W B o mEm #

UNIT-I ( 3omE-1)

1. Define Physical Education. Explain its scope and importance
in detail. 10

wife e #1 ofmw faeh @@ €% ok wEw =
foam @ Tvl w0

2. Write down qualities and qualifications of Physical Education
teacher. 10

TR foen & foes & o ok e farah

UNIT-II (ZarE-1I1 )

3. Explain in detail about History of Yoga and its importance
in modern life. 10

I ® IfaE w1 IR wQ q MyfiE e ¥ e
W W THE TN

40-S/350/KD/148 {P.T.O.



Write down the History of Ancient Olympic Games and
Asian Games. 10

T @ Ry sefns @@ = them Rran
UNIT-III ( 3T3-101 )

5. Explain in detail about postural deformities and their
remedies. 10
I T fER o guR @ U w1 frer ® avie
)

6. Write down the meaning of personal hygiene and
characteristics of healthy individual. 10
T Teoq w1 oY W e wfw w faewaw
fera

UNIT-IV (Z&E-1V )

7. Explain in detail about respiratory system. 10
TET TH F R 9 9ol w9

8. Explain in detail about effects of exercise on circulatory
system. 10
TEH ¥ W TR WHR W Ve 9 TN § foegm
o &

UNIT-V (¥=E-V )
9. Explain in detail the following voluntary agencies :
(a) Local Public Health Deptt.
(b) State Health Deptt. of Public Health. 10
40-S/350/KD/148 2

= w1 o9l w1 .
(F) & 9 @Wreg faam
(@) T59 99 @y fyam

10. Explain in detail about Balanced Diet and its constituents.

T SR qur 39 Tl w1 R ¥ oavR =)

40-S/350/KD/148 3

10
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BAE/S-17 43-S
MUSIC (INSTRUMENTAL)
(Sitar)
Time : Three Hours] [Maximum Marks : 36

Note : Attempt five questions in all, selecting one question from
each unit. Question No. 1 and 2 (Unit-1) carry 8 marks
each and Question No. 3 to 10 carry 7 marks each.

A : TRF WE W TH T F T FW@ O, F[E U
T ® SW AT T G 1 T 2 (TFE-1) 8-8
AR P ¥ I W TS 3 ¥ 10 B 7-7 oFw ¥

UNIT-I (3ahE-1)

1. Write the notation of Maseetkhani Gat of any one raga of
your syllabus with two todas. (64+2=8)

M TEEmd § 9§ fFd uwm o % ueeeH T s
wfeafy & drel wfga fafaw

2. Write the notation on Razakhani Gat of your raag Bhupali
of your syllabus with two todas. (6+2=8)

M UEEFHA H ¥ T U H WA T R Qe
ofeq fafaw)

43-S/250/KD/207 [P.T.O.



UNIT-II (FehtE-11)

Describe the raga ‘Alhaiya Bilawal’ in detail. 7
e faemee’ & fawm e Fie

Describing the ‘Jhaptal’, write its notation in Ekgun, Dugun
and Chaugun layakaries. 7

T W S ¥ gL, W ameny 1 OTE,
T T A e ¥ e
UNIT-I ( $&Ts-1I1 )

Write about the following terms :
Vadi-Samvadi and Khayal.

frm & sk o fafax:
FEA-TEE qU Tl

(3+4=7)

Write about the classification of Indian Musical Instruments.
7

T e Sl @ wie & fawe 9 fafew
UNIT-IV (¥&E-1V)
What is the folk music ? Explain. 7

A% G| w27 = wU

Describe the merits and demerits of Instrumentalists (Vadak).
7

TEH ® ON G FFON H SR FIWC

43-S/250/KD/207 2

UNIT-V (F&E-V)

9. Write about the role of ‘Ustaad Vilayat Khan’ towards Indian
music. 7
g e w1 R faemme @ % arem % v |
fafeu!

10. What is the time-theory and explain its importance of music.

7
g g § wwa-fogr w1 fe aen e fawa
AR
43-8/250/KD/207 3
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BAE/S-17 50-S

MATHEMATICS
(Algebra and Trigonometry)
Paper : BM-101

Time : Three Hours] [Maximum Marks : 30

Note : Attempt five questions is all, selecting at least one question
from each section. All questions carry equal marks.

SECTION-I

1. (a) Reduce to a row Echelon form of the matrix

3 4

4 1

7 5] and find p,(A). 3
I1 6

(b) Prove that every Hermitian matrix A can be written as
A =B +iC, where B is real and symmetric and C is real

and skew symmetric. 3
1 33

2. (a) Express A=|1 4 3| asa product of elementary
1 3 4

matrices. 3

(b) Prove that the set of vectors ©, 2, 4, (1, -2, |:
(1, 4, 3) is linearly dependent.

50-S/600/KD/152 [P.T.O.



2 6 1
3. (a) Prove that A=|0 1 -6/ satisfies its characteristic
3 4 2
equation. Also find its inverse, if it exists. 3
(b) Solve
2x~3y+z=9
X+y+z=6
xX—-y+2z=2 3
SECTION-II
4. (a) Find the quotient and the remainder when
x* + x3 = x2 + 1 is divided by 3x + 2. 3
(b) Find the condition that the roots of the equation
ax3 + bx? + cx + d = 0 (a # 0) may be in A.P. 3
S. (a) Diminish the roots of the equation
A58 472 - 17x+11=0
by 4. 3
(b) Solve the equation x> + x% — 16x + 20 = 0 by Cardon’s
method. 3
SECTION-III
6. (a) Prove that the order of every element of a finite group
is a divisor of the order of the group. 3
b) If f: G > G is a homomorphism, then prove that
kernel of °f is a normal subgroup of G. 3
50-S/600/KD/152 2

(b)

(b)

(b)

10. (a)

(b)

Show that a skew field has no divisors. 3

Prove that characteristic of an integral domain is either
zero or a prime number. 3

Prove that the intersection of two subrings is a ring. 3

Prove that every finite group is isomorphic to a

permutation group. 3
SECTION -1V
]
Find all the values of Az\w + N.v . 3

Form an equation whose roots are

2 4w 67
cO0S —, COS —, COS —. 3
7 7 7

Resolve the following into real and imaginary part :
Log (4 + 3i). 3

Prove that

T 1 1 1

=1+

23 3?2 5.32 7.3

+.......00. u

50-S/600/KD/152 3
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BAE/S-17 51-S

MATHEMATICS
(Calculus)
Paper : BM-102

Time : Three Hours] [Maximum Marks : 30
Note : Attempt five questions in all, selecting at least one

question from each section.

SECTION-I

1

u.AmvmroéﬁmﬂC oomﬁlu Qoamsoﬁ@amr 3
x—=0 X

(b) Ify= ™ cos™! * show that

(1 = x2)y,,0— @n+ Dixy, . — (n?> + m?)y, = 0. 3

2. (a) Ifflx) = x3 + 2x% - 5x + 11, find the value of A9/10)
with the help of Taylor series for filx + h). 3

(b) Find the radius of curvature for the curve

r" = d" cos nb. 3

3. (a) Find all the asymptotes of the curve

r=2al(l + 2 cos 09). 3

51-S/600/KD/153 [P.T.O.



(b)

5. (a)

(b)

(b)

(b)

Find point of inflexion on the curve

Xy = a¥(x - ¥). 3
SECTION-II

Obtain a reduction formula for ._. x" cos x dx, and hence

3

evaluate ._.x cos x dx. 3

Find the length of the arc of the curve x = ¢ sin 6,

y=¢€%cos O from 6 =0 to 6 = n/2. 3
Find the area outside the circle r = 2a cos 0 and inside
the cardioid r = a(l + cos 6). 3
Find the area of a loop of the curve r2 = 42 cos 20 and
hence find its total area. 3

Find the volume of solid of revolution ocr&soa 3\
Bﬁmn:m Ea area included between the curves y? = x
and y3 = x? about the x-axis. 3

A quadrant of a circle of radius a revolves round its
chord. Find the area of the surface of the spindle
generated. 3

SECTION-III

Solve
(2 +y2+ 1) dx=-2xydy=0. 3
Solve

-2xp+y=0. 3

51-S/600/KD/153 2

8. (a) Solve
(D3 + Dy=3+¢e*+ 5¢%
(b) Solve
2 % 2
(Bx +2)" — +mAux+Nv -3y=x"+x+1,
SECTION-IV
9. (a) Solve by removing first derivative :
dy 2dy
% + W.I M&l =n"y.
(b) Solve by the method of variation of parameters :
&m &v\ 2
1~-x |I+k||| =(1-x)“.
( ) 12 e ( )
10. (a) Solve the simultaneous equations
d%x
——+4x+y=tet
dr? Y=
2
mlw.fw 2x =cos’t,
di?
(b) Solve
dx _dy _ dz
-y 2 2xy  2xz
51-8/600/KD/153 3




9. (a) Prove that the axes of the sections of the conicoid
axt = by? + ¢z = 1, which pass through the line

k4

X=
!

I~

Z
n

lie on the cone

b-c c—-a
(mz-=ny)+
X y

(nx-12)

a-b
z

+ (ly —mx)=0.

3

(b) Find the equations of the generating lines of the
hyperboloid yz + 2zx + 3xy + 6 = 0 which pass through
the point (-1, 0, 3). 3

10. Prove that the equation
202 + 2y + 22 + 27 -2 —dxy +x+y=0
represents an elliptic paraboloid. Reduce it to the standard

form and find the co-ordinates of the vertex and equation of
its axis. 6

52-S/600/KD/154 4
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BAE/S-17 52-S

MATHEMATICS
(Vector Analysis and Geometry)
Paper : BM-103

Time : Three Hours] [Maximum Marks : 30

Note : Attempt five questions in all, selecting at least one question
from each section.

SECTION-I

1. (a) Show that the four points having position vectors
47 +87+ 12k, 2f +4j+ 6k, 3i+5] + 4k, 5{ + 8] + 5k
are coplanar. 3

(b) Prove that the necessary and sufficient condition for

the vector function m of a scalar variable ¢ to have a

1&1
constant magnitude is f .MM: =0.

2. (a) Let F=xi+yj+zk and r=|F| then prove that

Vrt=nr"? 7 3

(b) If f =xz2f +2y] - 13xzk and & =3xzi +12y7) - 8%k

then find (f X V)X g at the point (1, -1, 2). 3

52-S/600/KD/154 [P.T.O.



SECTION-II

3. (a) Evaluate ._.\a ~dr from (0, 0. 0) to (2. 4. 0) along
C

the curve y = 2x, z = 0, where

f=yi+x+2%]+x-2>%. 3

-

(b) Evaluate ._. % F7idS, where f =z +x+3y*zk and
S

S is the surface of the cylinder x? + y? = 16 included in
the first octant between z = 0 and z = §. 3

4. (a) Apply Gauss's Divergence theorem to evaluate

.:.T% dy dz + y* dzdx+2z(xy - x-y)dx dy]
S

where S is the surface of the cube 0 < x<1,0<y < 1,
0<sz< 1. 3

(b) Evaluate by Stroke's theorem

%Qx dx+2ydy-dz), where C is the curve
C

x+y2=4 z=2. 3
SECTION-III

S. (a) Find the centre and the lengths of axes of the conic

xwlmé\+w~+malmow+auo. 3

52-8/600/KD/154 2

(b)

(b)

(b)

8. (a

(b)

Find the equation of the conic passing through (1, 1)
and also through the intersection of the conic
x? + 2xy + 5y% = 7x = 8y + 6 = 0 with the straight lines
2x-y-5=0and3x+y-11=0. 3

Prove that locus of the pole of a given straight line
with respect to a system of confocal conics is a straight
line. 3

Prove that semi-latus rectum of any conic is a harmonic
mean between the segments of any focal chord. 3

Find the equation of the sphere which passes through
the points (3, 0, 2), (-1, 1, 1), (2, -5, 4) and has its
centre on the plane 2x + 3y + 4z = 6. 3

Show that the plane 2x - 2y + z + 12 = 0 touches the
sphere x2 + y? + z2 — 2x — 4y + 2z — 3 = 0, and find the
point of contact. 3

SECTION-IV

Find the equation of the tangent planes to
2x2 ~ 6y? + 372 — 5 = 0 which pass through the line
x+9 -3z=0,and 3x -3y +62-5=0. 3

Find the locus of chords of the ellipsoid

2+ 2 4 2 _ 1, which are bisected at (f, g, k).

2 2 2
b c?

Q

52-S/600/KD/154 3 [P.T.O.



(b) Fill in the blanks with the proper degree of adjectives
given in brackets :

(i) Meena is ......... cenreen than Sanju. (tall)

(ii) Parneet is the ................. girl in our class.

(intelligent)

(iii) This is a ........ v CAT. (fast)

(iv).Do not come ...... erreerinenees than 12 o'clock.

(late)

(c) Fill in the blanks with suitable conjunctions :

(i) Love ............ faith go together.

(ii) She came late ........ weeeneene She finished in time.
(iii) I worked hard .............. failed.

(iv) Sandeep iS ..ccccvnnnnnnnnnn a painter, ...... peaes .

a singer.

(d) Underline the verbs groups in the following sentences :
(1) Pari talks very fast.
(ii) In 2020, I will have been teaching for twenty
years.

(iii) Aman lived in Delhi for many years.
(iv) Mother is coking a tasty meal for us.

(12x1=12)

7.  Write a paragraph in about 200 words on any one of the following

topics :

(a) The Merits/Demerits of City Life.

(b) Menace of Terrorism.

(¢) My Favourite Subject.

(d) The Value of Cleanliness. 8
701/41,500/KD/39 4

ROl NoO. .vveeeriieiieens Total Pages : 4
GSE/D-17 | 701
ENGLISH

Time : Three Hours] [Maximum Marks : 80

Note : All questions are compulsory.

1. Transcribe any Eight of the following words :

(a) Mind. (b) Job. (¢) Possess.

(d) Weigh. (e) Toy. (fy  Become.

(g) Project. (h) Duty. (i) Above.

(j) Hygiene. (k) Philosopher. (1)  Ourselves.
(1x8=8)

2.  Answer any four of the following questions in about 30 words :
(a) What do you understand by “The Big Bang Theory” ?
(b) Why can we not use the term ‘monuments’ for big dams ?
(¢) What is the first formative influence on an individual ?
(d) What did Gandhiji express in his letters to his teachers ?

() What, according to Shastriji, is the reason that parents do
not have enough time for their children ?

(f) What helped Valmiki to evolve the Ramayana ?
(2x4=8)
3.  Answer any five questions in about 75-100 words each :

(a) How, according to Nirmal Verma, is one language different
from the other ?

(b) What efforts did Gandhiji make to become an English
gentleman ?

(c) Explain in brief the myth of creation, as told by the Mayans
of Mexico and Central America.

(d) What is ‘paralysis of sensibility” ? How is it measured ?

701/41,500/KD/39 [P.T.O.



(e) What were the problems faced by peasants all over India ?

(f) What are the “three principal elements” that finally make up
the identity of an individual ?

(g) What is the meaning of the terms ‘Dev Bhumi’ and ‘Dev
Bhasha’ ? Why were they used for ‘Bharat’ ?

{h) What message does Dr. Kalam give at the end of his speech ?
(4x5=20)

Read the given passage and answer the questions that follow :

Big Dams are absolete. They are uncool. They're undemocratic.
They're a government's way of accumulating authority (deciding
who will get how much water and who will grow what and where).
They are a brazen means of taking water, land and irrigation away
from the poor and gifting it to the rich.

Their reservoirs displace huge populations of people leaving them
homeless and destitute. Ecologically, they're in the doghouse. They
lay the earth to waste. They cause floods. water logging, salinity,
they spread disease. There is mounting evidence that links Big
Dams to earthquakes.

Questions :

(i) What terms have been used to describe Big Dams ?

(i) How have Big Dams accumulated authority for the
government ?

(iii) How have reservoirs effected huge populations of people ?

(iv) What are the ecological disadvantages of Big Dams ?
4

(a) Give one word substitutes of any rwo of the followings :
(i) Activities to nurture extracurricular skills.
(i) A piece of land bordering the sea.
(iii) A person who believes in God.
(b) Give Synonyms of any two of the following :
(i) Entire.

(ii) Survive. (iii) Patience.

(¢) Give Antonyms of any two of the following :
(i) Dead. (i1) Unknown. (iii) Polite.

701/41,500/KD/39 2

6.

(d) Explain any two of the following words/terms :
(ii) Decipher. (i11) Habitat.
(4x2=8)

(i) Cosmos.

(A) Fill in the blanks using the correct form of verbs given in
the brackets. (Any rwelve) :

(1) He ......coeeveenenee... @ book when 1 saw him. (read)
(ii)) The sun ................. in the east. (rise)
(iii) Mohan .................. to Delhi yesterday. (g0)
(iv) Nisha ................... her breakfast now. (have)
(v) He ................... for college already. (leave)
(vi) A fluffy dough ..................... good bread.  (make)
(vii) My mother ................. to London next week.
(travel)
(viii) Manoj ................. a car soon. (buy)
(ix) I could not hear what he ............... (say).
x) TI....... to my father every week. (write)
(xi) Look, the moon ..... veveennene.. Dright. (shine)
(xii) We ............. for a cab. (arrange)
(xiii) Ravi .......c.ueeen.. very well. (sing)

(xiv) Neha and Poonan are good friends. They .......
(study) together since childhood.

(xv) There .................. not even a drop of water. (be)
(12x1=12)
{B) Attempt any rwelve :

(a) Fill in the blanks wih suitable form (singular/plural) of
the given nouns :

(i) ..ooccoveeeen.. play football. (child)
(ii) 1 bought three ................. eggs from the shop.
(dozen/dozens)
(iii) The ................. were falling from the trees.
(leaf)

701/41,500/KD/39 3 [P.T.O.



6.

(e) Fill in the blanks with comparative or superlative degree
of the word given in the brackets :

(i) Whois the................ person in your family ? (old)
(i) Which is the ................ day of the year ? (long)
(iii) Which is the ................, iron or lead ? (heavy)
(iv) This is by far the .................. of the two methods.
(easy)

(v) Which will get us there ..............., the train or the
bus ? (quickly)

(f) Supply an appropriate verb in the blank spaces in the
following sentences :

(i) Mathematics ............... his weakest subject.
(ii) His trousers ..........ccceevunn. covered with mud.

(iii) An epidemic of measles ................. broken out in
the district.

(iv) Most of the candidates ................. passed their
examination.

(v) The food we took with us .................... insufficient.
30

Use any fen words in your own sentences :

After, Dwell, Consider, Ancient, Reign, Stupidity, Glory,
Lean, Vanish, Sportive, Twilight, Rein, Deliverance, Offence,
Ceremony. 10

Attempt any four of the following in about 50-70 words
each :

Dramatic Monologue, Conceit, Simile, Satire, Allusion,
Epigram. 8

702/12,800/KD/40 4
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ENGLISH
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Note : Attempt all questions.

L

Explain with reference to the context :

His state

Is kingly—thousands at His biding speed
And post o'er land and ocean without rest :
They also serve who only stand and wait.

OR

And bending down beside the glowing bars,

Murmur, a little sadly, how love fled,

And paced upon the mountains overhead

And hid his face amid a crowd of stars. 8

Read tthe following extract and answer the questions that
follow :

Shadwell alone my perfect image bears,
Mature in dullness from his tender years :
Shadwell alone of all my sons is he

Who stands confirmed in full stupidity.

(i) Who is the speaker in these lines ?

(i) Who is Shadwell ?

(iii) How is Shadwell like the speaker ?

(iv) Who ‘stands confirmed in full stupidity’ ?
OR

702/12,800/KD/40 [P.T.O.



(7%

4.

Twilight and evening bell,

And after that the dark !

And may there be no sadness of farewell,
When I embark:

(i) Name the poem and the poet.

(i) What does ‘twilight’ mean in these lines ?
(iii) What does the ‘evening bell’ stand for ?

(iv) What kind of farewell does the poet want at the time of
his death ? 8

Give short answers to any four of the following questions :
(a) How has beauty been described as weak before Time ?
(b) Why does the poet say that death is not dreadful ?

(¢) Explain : “The glory, jest and riddle of the world”.
(d) What does the black boy say about his soul ?

(e) Why is the King George IlI despised ?

(fy “All's over then.” What is over ?

(g) What features of pidgin Englsh are suggested in ‘The
Patriot’ ? 8

Comment on the protective role of Nature in the poem
“Three Years She Grew...”.

OR
How does the writer prove that death is neither powerful
nor fearful in the poem ‘Death Be Not Proud’ ? 8

Do as directed (Attempt any fwenty).

(a) Insert little or a little, few or a few in the following

sentences :
(i) Could you lend me ........ vrveenene DOOKS ?
(i) Mr. Brown was a man of ............. words.

702/12,800/KD/40 2

(b)

(c)

(d)

(iii) T have spent nearly all my money, and have only
TR (<) { &

(iv) You should be able to do the job if you have
verreneneneenn. patience.

(v) As the matter is outside our control, there is
reeerenneen. We can do about it.

Insert fairly or rather in the following sentences :

(i) We have had a ........ ....... good holiday.

(i) Heis a ............ ... intelligent boy.

(iii) The price is ............... more than we wished to
pay.

(iv) T find this exercise ................. ... difficult.

(v) 1Itis ........... a shame to throw that book away.

Supply the correct preposition in the following
sentences :

(i) My uncle lives ....... ....... a large house.

(ii) Miss Johnson is a typist ............... the Town Hall.
§11) IR five o'clock only two people had arrived.
(iv) She will be twenty ......... ...... August 10th.

(v) We saw a plane ............. us.

Fill in the blanks with the simple or the progressive
form (present tense) of the verb given in the brackets :

(i) The ltalians ............. in ltaly. (live)
(i) An honest person always ............ the truth. (tell)
(1ii) That child .............. because it cannot find its
mother. (cry)

(iv) The workmen ............. ... the road near our house.
(repair)

(v) There are some birds that ................ every year.
(migrate)

702/12,800/KD/40 3 [P.T.O.
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AT ;. gf wA AfEE
1. = 9 9 F 9UET =R FNY e

(%) FER Ig W Y9 T, TN H W AR
9 TR By wR, W R W uk
I 9 W I, T OF T fFwmE
o W WfE v, R W @ Smw

(@) T, HEd g 9igE Fe-Fe S|
e S o U e | = wRE el
e oy e W emg 2w g A wh
T® W R AR o & e omowed

(m T w0 O we B T fafe wg s s

g, e 9, FRE FHEC-IHA Al Sk

TA-GUE G0 gl WH FEd 9% Ug @Akl
TRYF] TARLF T W TR, Wik 7 R
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3.

4,

(%) 7% BN fomal =@ @R
79 foamal & faear on R, fag @@ wOR
=W e famafon o @R @ g SR
I TE IS FE Y wW w9
AR Yy g afeam, = 3w sfERI (6x2=12)

TS Agar WaEH 4 ¥ 5w W 9fEfas 9iwE

gty 8

e 7w 5l owm oo # T O150 v 9w

(F) FaR F GHGF Ja9 | 9699 § gHw T

(B) gEFE & 9ed 9vF W faEr =@ #l)

() qerEEE w1 ww-el w1 WeY ¥ Soor@ F

(8) 50 1 yW-9mE w1 REg ffw

() faerd 4 @ < § R § g | R g fom

|

(7)) wAEE ® faam w1 affes | e I |l

(4x4=16)

g § 8 2 ow s SN
(F) &< afem & Ifqew 1 dEd T W TFW
sl ‘

(W) AfEwe & AEEIT S YHE WU TG oieT
F1
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(M) s ofiftufsdl =1 avF FwIT
() T FE WY F Teo@ FIEC (8x2=16)

. e A S e TR 150 =R A dfSu

(%) g o 1 v e difem
(@) o79R g F e W feorf fafaw
(M) diFera T w1 Heg d ufmg e

() enfcwres oiEm | uwEa w1 evE 2, fag sy
(5x2=10)

B AR IR A UG T A NS L

(%) favys @ 7 ofaym ©, 9% fFaY UER @ Ed €7

(@) FTU W FT IR IR IH TR F

(M) E@ BT FI GRS T IR Y

(9) TYF TSFR FT IR TH TEEIO TER TNE FH |
(5x2=10)

7. = mf sgfie w % S AT

(F) FR W F WA 98 FH-T 27

(@) vE-viE fFa veR #1 edl ®?
(M @ T TN s AW e

() qell & HEOWw W A 917
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J5 fea vigt muet fes' faR o7 o Jadt fes
mEeE J9

Action, Audit, Capital, Copy, Entry, Eligible, Claim,

Basic-pay, Compliance, Arrears, Bill, 10
35 fefrmit feg* Sla €39 & -
1. fdeg fam &yt 32
® gt (vf)  f3nmaft @
(&) Hfewmt & (@) Afoorg @
2. fermdt @ W8 Sug faoFt emm Ua At 39
® 3= () THE
() T (A) Wt
3. Z-wet gfesr v Fux I
® z& e fiw o §: yIs Ry

() Ual IH TfZK (A) A gHS

708/3,900/KD/3 5 [P.T.O.



7

s ot = g fad g 7
@ wgtfes () TS
® feozfes (M) USRS
5. e afeg @ 8 3
@) ¥t A fhu () vAET U
(®) A (7) wE RS S
10. 35 ffmit fed &8 €39 T2
| Fed Py T EEs d
@) ufess vt () ufeg unf
@) uews g (@) WRETET
) ufess il mres T ofed 9
& &= i
(n) Y3 fAw
(g) foqus fu
M foes

708/3,900/KD/3 6

3. T w3 ST fegw fouzr 3

oy () HH
T g (A) 8«

2 r=T Fu d gEs 3 SN F96 €8 Usg &
=2
g fov &5 (M) uISt IS
T UE I (A) TH &5
2 UE BB wS ¥4 3 far mfgg Ater 37
2 TEEH (nf) Tfgenmg

() nfH3Ag (A) ©nraar 5

708/3,900/KD 3 7
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GSE/D-17 709
SANSKRIT
(Compulsory)
Time : Three Hours] [Maximum Marks : 80

AT : vt W e ¥

1. frefafas st vt = s S .
(F) geIvE & Wfaa &1 9 fafau
(@) ‘v T TR R g Ty @ e T ¥
(M) ‘o’ frg wfa o @ 2
(9) ‘v Oy R T @ Sgya #2
(¥F) ‘v’ 9 ¥ ®A- fqafm qon o= wgw gw 87
() ‘o W g B e gEw St g W W R
(®) ‘fedmewr:’ 7 ‘wlan’ o wiu-fase wifvw
(F) dmgFaghar § wam diFw fRew SRy 3 82

(8x2=16)
2. (%) O v 1 e s
() T IR f& Tg s qaaen
T & aasseR qen wgw TEE:n
(9) e fo faferen qoomen Auw:)
fafee=t fran: wal: di= wEfEmEen

709/4,600/KD/45 [P.T.O.



(F) YA Fresav mymy IO
I TR AR R YR )

(D) T &= 9 o 9w w71 T |
I fe fawda 3 fgaamatsn) (2x5=10)

) Aﬂw_ﬂ@mﬁm@i&ﬂgﬂﬂg"

(3) A TR FqeE ™ w9 T e
Fﬂn@ﬂ_mﬁﬂmﬂﬁﬂ?ﬁ% wfere:)
T W T asfest gyt
T T YAEIE- W, TaaIEd SR | aRm iy

(F) 7 foora T FEweEFSTE fafieg warsy
YR wee: wisd whwm wfem:, T g
dssAfay, ‘wy T T T feedm
THRH?' STASE THARTEERE 35 garems)”
qsifes wft gumy zame- FEIY A
T '?

(W) g o5~ o weAfufed waefu woafR
HENfaeEs frass Y vame. TS, T
wAAfY vt s 8 ade v s
T favfar: wheafa) v wam O

(%) 7 0 7 T T W waf)
FIRAFTE TR ToovT wdw: )

(2x5=10)

709/4,600/KD/45 2

(@) ‘gt a5 7' srgar ‘e, FeT:" I8 H ER
fafaw) 6

- (F)FE D F gt vy fefag .

FfE - i, wgef

A — gem, fedram

g - w=ft, g

TETFE — v, (2x4=8)
vanﬂm@mm@i%é%ﬁi@mﬂﬂam

T 979 SR o= ® w9 e

VY - T2 FFRI

VAg - W FHR

V& - WE FERI

VR - @ TER : (2x4=8)

X Aﬂvjﬂﬂﬁmm@iﬂnmﬂ?mﬁﬂzw

afy-fassg #ifvw .
(i) ﬂ+.ﬁﬂzy&+,ﬁrﬂﬂ+ﬁ_ﬂ+ﬁc
E§+wﬁmﬂ.i+$ﬂrnﬂ+§.d@+mmﬁ_
(4x1=4)
() Tufy, fmg:, when, 7=, e, gaieg, s,
RICEH (4x1=4)
Aﬁv.%ﬁﬂﬂ%.ﬂﬂﬂmﬁﬁﬁﬁaﬂ@dﬂ
FIfST| (4x2=8)

709/4,600/KD/45 3
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GSE/D-17 712

SANSKRIT
(Elective)

Time : Three Hours] [Maximum Marks : 80

1. frafafas v+t vl & s G
(%) IREw gfved & WA w1 AW fafa
(@) fedRy ¥ ARl i fRw fagm 3 foan €2
(m) e ® wEw w1 AW fAfau
() ek 3 fFat ool # =W R
() 'vae’ w2 frg fyafem ok 99 =1 w9 &2
(9) ‘rafy’ ) § $H-W TR 32
(®) ‘=i’ & dew w1 AW fafay
(W) Thy fFY we 2 (8x2=16)

2. (F) FE @ = =D F Ty w
(37) wEATTEEART FE Tty diaam
= ¥ T R w e i

(%) T TR TEAY wirea

IeHEq Waay 9: gl |: ufvea:ll
712/5,000/KD/46 [P.T.O.



(Q) TEHFS IHURTY TAIIH| TH T
T HIEE: TR g e o ureml ®)
QAT A, ddl A NFRA
FATTQrIATEATTY — ' I Jeafal”

(3) THE fevoas: YR YEfEd: Saeg— Y
fig 1 WY | WA oTfuEETeTeRd  Serementa
I @Y 50| TEHEFS] oF 99N g feenf

(2x5=10)
(@) ‘feror-fag-war’ v ‘Ha-frema-Fa' F1 W1
fafam) 6

3. (%) & @ v w1 wed Fifee

(37) IF: GO GEaENEs favee:)
FeEgfEey wEnsfy @ | 9 Tt

(AW AT A a0 T IH T T T Ow T
¥ T AN IEEe gl

(W) TH A AwEs T ot faae)

T 9 e A e a&g g mfasfata

(7) ufEfdft Sur ga: & a T e

W S A WA A 9 SR (2x5=10)

(@) fFh w= gfw * Iy =ren N .
“fasyor FmafregamTy)”

31
“ga oM weEEsEl” 6

712/5,000/KD/46 2

4, (F) FH @ 5 vuffRe favfral § w9 faf@u :

T (TUHT, qara)

wg (T, gerem)

™ (=g, v

fag (womn, g (2x4=8)
(@) fF q vgslt ® gnfis wen A w9 fafac :

T (T TFR)

™ (FF TFR)

T (T, TFR)

q (T AqFR)| (2x4=8)

5. (%) f&5= = =t gt wifsa

& o+ ofF:, faen + oneff, | + suwm:, wfy + T,

R + TF:, 99 + A, W o+ AR, TG+ I
(1x4=4)

(@) fF= = w1 wiu-fases st :
e, fearadw:, g, g%, Fufy, i, @,

Suc il (1x4=4)

(M) ¥A-79 ¥ @ T v ¥ fm R @ veel W

| Hifem) (2x4=8)
712/5,000/KD/46 3
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GSE/D-17 718
HISTORY
(Ancient India From Earliest Times to Gupta Age)
Opt. (i)
Time : Three Hours) [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each unit. For
visually handicapped candidates the part relating to the
explanatory note on Map will carry full marks.

AT . w{H ufw wE FEY TE G 1 afEd j owEw
WE ¥ UE T F 99T Fifww Ay faenfam w
fau wafas & semms feoft e s & fog @
<ol

Compulsory Question ( 31 ard wo)

1. Answer the mo:oémsm Multiple choice questions :

= agfaweda ww ® sw e .

(a) Who is known as the “Father of History” ?
(i) Livi

(i1) Herodotus

718/4,700/KD/49/Map of undivided India [P.T.O.



(b)

(c)

(i) Kautilya

(iv) Huinsang.

‘T w fr e o w20
(i) fesh

(i) LY

(iii) Fifee

(iv) &IEm

Who wrote ‘Mudra Rakshas’ ?
(i) Visakhdutt

(i) Muni Mahendra

(iii) Banbatta

(iv) None of these.
'"TRHE F oEE BH 2
() fawmEEa

(i) 3 7=

(i) wTOTHIE

(iv) T | F¥ T
Buddha Dev died at

(i) Kausambi

(i) Sarnath

(iii) Kusinara

(iv) Vaisali.

718/4,700/KD/49 2

(d)

(e)

I A R Y T A
() o H
(i) IS H
(iii) HIAT H
(iv) Jumelt H|

Which of the following Vedas was the earliest

composition ?

(i) Rigveda

(i) Samveda

(iii) Yajurveda

(iv) Atharvaveda.

fFq 42 ® TN W TS g dl?
(i) TR

(i) TR

(iii) T

(iv) gEaR)

Capital of Anga Mahajanpada was
(i) Champa

(i) Magadh

(iii) Vaisali

(iv) Virat.

718/4,700/KD/49 3 [P.T.O.



T TESHTE FT TN e TR % RAE et o

(i) = (i) 9=
(i) Ty (i) =
(iif) Somreht (i) A™F9Z
(iv) farmel (V) =3

A%

(h) Chinese Traveller Hueinsang visited India during the
(f)  Which Buddhist Council was held during the reign of

Ashoka ?

reign of
(i) Harsh

(i) First (ii) Chandragupta Vikram-II

(ii) Second (iii) Ashoka
(iii) Third (iv) None of these. (2x8)
(iv) Fourth, I A T 3 ara # g s wawT
ﬁ&ﬂ%ﬂﬂm%ﬁgﬂﬁaﬁﬁ% q F e
(i) wum (i) ®d
W il
- (i) AIMFE
o ) T B
(iv) =q4I

(&) The famous Mathematician of the Gupta period was UNIT-I Awﬂ.ﬂlmv
(i) Bhasa 2. Describe the literary sources of Ancient Indian History.
(i) Sudraka 16
(i) Aryabhatt YA 9T Ifem + wfefos o F1 FUFA Fifem)
(iv) Manu.

718/4,700/KD/49 4 718/4,700/KD/49 5 [P.T.O.



Write a detailed note on Neolithic Age. 16

T FA R & @ w@ @)
UNIT-II ( T&T3-11 )

Give an account of the life and teachings of Lord Buddha.
16

e g% % WEd R foams w1 gam Sfew
Write a note on Sixteen Mahajanpadas. 16
HeE weeETE W T o faw

UNIT-III ( g&tE-I11 )

Point out the main features of Maurya Administration. 16

o woeR 1 g fasael it I9vR i

Who were Kushans ? Describe the achievements of Kanishka.
16

FAM A 97 FEAF H GHEAWS F AT R
UNIT-1V (3&T3-1V)

On the outline map of India, show the important sites of

Harappan civilization. Add a note also. (10+6=16)

718/4,700/KD/49 6

Id % T@-TAfTT W ETSW §9a ® & WEl &
el TF wE o fo

9. On the outline map of India, show the Extent of
Samudragupta Empire. Add a note also. (10+6=16)
ITE & W@-9Afad W 9gTW F O 9Wed fawm @
TRel Tw o f e

718/4,700/KD/49 7



(f) Who preside over the Rajya Sabha at present ?
(i)  Mr. Arun Jaitley (i) Mr. Venkaiah Naidu

(i) Mr. Rajnath Singh (iv) Mr. Narender Modi.
FAUM H TG G H AT BH FW E 2
() ot sreu S (i) o A TS
(i) o ey fHe (iv) &t == F:&h

(g) How many members of Constituent Assembly signed
the document which came into being on 26th Jan.,
1950 as Indian Constitution ?
(i) 250 (ii)) 283
(i) 328 (iv) 282.
faum g % fea ¥ 7 O dfum # mEs
W S fF 26 S, 1950 w1 s o e en,

TR fhy & ?
(i) 250 (i) 283
(ii)) 328 (iv) 282.
(h) When was Indian Constitution adopted by Constituent
Assembly ?

(i) 26 Jan., 1949

(i) 26 Nov., 1949

(iii) 15 Aug., 1947

(iv) 26 Jan., 1950.

faum aw g v Siaym w1 w9 T T o ?
(i) 26 A, 1949 F

(i) 26 AW, 1949 HI

(i) 15 PR, 1947 &

(iv) 26 FEd, 1950 HI

723/8,800/KD/971 4

Roll No. ..cocrvrvrinn, Total Pages : 4
GSE/D-17 723
POLITICAL SCIENCE
(Indian Constitution)
Opt. (i)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one question
from each unit. Question No. 9 in Unit-V is compulsory.

AT : TIF THE Y @E WA F 9 FW g T w9
% IW Y HE-V F WA FEm 9 AfEd R

UNIT-1 (3&h3-1)
1. Kindly discuss the various sources of Indian Constitution.

adta dfaym # fafy= 9 &1 fagsT =it

2. What is the Importance and relevance of Preamble ?
TS 1 We™ iR Wi wn R 2

UNIT-HI (F&E-11)

3.  What is the procedure of election of President of India ?
Discuss in detail.

IR & UG % g9 H 9Ha 7 fT@r @ avfv Fifs

4. Explain the powers and functions of Prime Minister.

AR & afieR v Tl Y s st

UNIT-III ($&T8-111)
5. Write a note on the composition of Parliament.

Tqag F @A R & feooht fafau)
723/8,800/KD/971/Trans. [PTO.



What are the main features of Panchayati Raj System ?

TEEE TS YoTedt ® g favwa o ¥ 2

UNIT-1V (3&TE-1V)

7. Write a note on structure and position of Supreme Court
of India.
IRE & Fares AEed ®1 G o fufy W uw feogof
fafem)
8. What is the importance and relevance of Judicial Review ?
=ifas e # Hew ok wrfira W R 2
UNIT-V (§&1E-V)
Compulsory Question
9. Objective type questions.
THAS ye
(a) When was the first meeting of Constituent Assembly
of India held ?
(i) 09 Dec., 1946 (i) 09 March, 1946
(iii)) 15 Aug., 1947 (iv) 16 Aug., 1947.
R H FEUH G T gEen MEn ww g o ?
() 9 RE=R, 1946 | Gi) 9 T, 1946 F
(i) 15 ST, 1947 | (iv) 16 3T, 1947 &
(b) Who was the president of Constituent Assembly of
India ?
(i) C. Rajgopalachari
(i) Dr. Rajender Prashad
(iii)) Pt. Jawaharlal Nehru
(iv) Sardar Vallabhbhai Patel.
723/8,800/KD/971 2

()

(d)

(e

IRG F1 FEYE A ® FIY w9 ?
i . TeeeEd

iy T T TR

(ili) 9 TERX e AEw

(iv) UER oa99E =

How many Fundamental Rights were granted in
Original Constitution of India ?

G 05 (i) 06
(iiiy 07 (iv) 08.

@ ® g9 Sfaum A R gegm afuem fo
MY ?

G 05 (i) 06

(i) 07 (iv) - 08.

How many directive principles of state policy are granted
in Indian Constitution ?

i 10 Giy 11

(i) 12 (iv) 15.

T dfavm d e Aifa @ e v fagm=
wer fFy M ?

i 10 (i) 11

(i) 12 (iv) 15.

Who is the leader of Lok Sabha ?
(i) Mr. Rajnath Singh (ii) Mr. Narender Modi

(i) Mr. Jayanti Natrajan (iv) Mr. Venkaiah Naidu.
AR ® afuefy B ¥ 2

(i) ot gomy fde () 4t == 9

(i) o FERt TR (iv) o dE AR

723/8,800/KD/971 3 [PTO.
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GSE/D-17 725
ECONOMICS
(Micro Economics)
Paper-I1
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 and 2 are
compulsory. Attempt the remaining 3 questions selecting
one question from any three of the four given units.

FA U T H TR 1 A 2 AFEE ¥ o9 3
WA F fau T IR s A9 e 3 A @
TH-TF 597 T

e

.

1. Compulsory Question ( 3fEmt wg=)

A cotton producer is ready to supply 100 bales of cotton at
Rs. 20 per bale and 200 bales at Rs. 30 per bale and 300 at
Rs. 40 per bale. But if price falls to Rs. 10 per bale he will
not supply any quantity.

Answer the following questions :
(a) Name the Law of economics in this example.
(b) Draw Supply schedule and Supply curve.

(c) Estimate elasticity when price changes from Rs. 20 to
Rs. 40.

(d) What is the slope of Supply curve ? (4x4=16)

725/10,600/KD/53 [P.T.O.



(ii) Under Socialism, economic decisions are taken by
TF FOE IERF 20 T OWE MS W 100 M3, 30 & WA

: . : . (a) Government
M W 200 M3 T 40 T WA MS W 300 el w1 g

F % W T 10 T W WS ¥ FH FHA W Y[ H (®) Market
T=HF TE 2 (c) Both the above
fr geAl @ SRR (d) None of the above.
(F) 78 wferA H wW-w w27 TR, ® or=a onfdE fofg fem om #
A@vﬁm%ms%mmmﬂn_, () TEFR g
Qvﬁ%ﬁwo«.@éwmﬂmaﬁ%%ﬁ () T T

AFHTT T

(9) SWFE A F ZTW
() 30 ¥ ¥ &= = o g =0

(iii) With increase in income, demand for inferior goods

(0 I TF W TEm w2

2. Compulsory Question ( 3TF@ETd w¥)

Choose the correct answer.

. = (a) rises
T R |
T (b) falls
(A) (i) Who gave Material welfare definition of Economics ?
(@) Smith (¢) remains stable
(b) Peterson (d) None of the above.
(c) Marshall AW F ugH & WY "fed IS w1 A
d) Mill
@ » . (1) TR &
sy # feE Foa wadt o R 4 R7 it $
g
(31) fo (%)
(=) e (9) feer e 2
(%) Tt (F) W H 4 FE T
(%) Tl 725/10,600KD/53 3 [P.T.O.

725/10,600/KD/53 2



(iv) Which is correct ? (B) Match the following :

TV 1. Perishable goods (a) Planning curve
(a) MV=—
Q 2. LAC (b) Inelastic supply
b)) MV=XTV 3. Consumer equilibrium (¢) P=MV
(c) MV=T V.1 -TV, 4. Hicks (d) Increase in tax
(d MV=TV -TV, ,. 5. Decrease in Consumer (e) Indifference curve.
- e surplus (5x1=5)
. e e w
(31) MV Hd 1. =T mﬁ,Hﬂ (1) TS TH
Am,v MV =ZTV 2. LAC (9) SEER g
3. IU°ER HeW () P=MV
() MV=TV,_,-TV, N
4. fe=m (D | H g
() MV =TV, -TV, ,.
5. 39T FowEd
(v) Which is external economy ? T F (9) qRUA TF
(a) Managerial (C) Define the following :

(b) Technical (a) Increase in Demand.

(¢) Information

(d) None. (5x1=5)

(b) Elasticity of supply.

(¢) Income effect. (3x2=6)
T ¥ wH-d SEd w=d 82 S
(37) gEE ()T # o)
(3) (@) qff =t &=
(%) g (M) AT gy9El
(%) #E &

725/10,600/KD/53 4 725/10,600/KD/53 5 [P.T.O.



UNIT-I (3&E-1)

3. Discuss the scope of Economics and its limitations. 16
FdvT & &F qen HEeh # g )

4. Define Price elasticity of Demand. How is it measured ?

16
T F WG A" F OSSN R OW BY AW R?
UNIT-I (3&é-11)

5. What is Consumer equilibrium ? Discuss it with the help of
Indifference curves. 16
U TIOR W R0 qIR Tw ¥ TR e #

6. Explain Consumer surplus. How is it measured ? 16
U S9 B A F W Y T #2

UNIT-III ( 3T3-111 )

7. Discuss Law of Variable proportions of production. 16
IO Wed-ggd U B Fraw w smen wl

8. What are Isoquants ? Discuss their properties. 16
RO a% F ¥ ST faewa s

725/10,600/KD/53 6

10.

UNIT-IV (E&E-1V )

Discuss the relation between various Short run cost curves
according to traditional theory.

et fagid # emEr fafy= sewwe @l ®
TEY F T

Define and discuss relations between various revenue curves.

fafir ammm == ¥ W 2 ok I TIy ¥ <9

725/10,600/KD/53 7
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e e T WEE GTE W eTauTIey # gus

‘ . GSE/D-17 726
ﬂwa, | e 4t W #NT fF AC % U-3Ter &1 =i ECONOMICS
T 27 (Micro Economics-I)
Paper-1

9.  Explain the concepts of Total revenue, Average revenue and
Marginal revenue. Also explain the relationship between Time : Three Hours] [Maximum Marks : 80
Total revenue and Marginal rev: rue. 16
T A, 39T o I W om w9 o S oo Note : Attempt five questions in all. Question No. 1 is
~ . compulsory. Select one question each from any of the
S HITY FH 0w W F ww w7 A ol ER% E&m and the \g:ﬁw questiton may be mwoavaa
FITSQ from any unit.

T FW Ul ¥ I W Tem | afEd §1 fee
T RS ¥ TH-TR W F T T qen ser
v et ff = | frm @ wwa R

Compulsory Question ( 31f¥am/™ wyv)

1. Write brief answers of the following :

(a) What is difference between Micro and Macro
Economics ?

(b) What is Price elasticity of demand ?
(c) Explain the Law of Diminishing marginal utility.
(d) Explain the Law of Supply.

(¢) Explain the difference between money cost and real
cost.

(f) What is Break-even point ?
Fill in the blanks with appropriate words.

(g) Demand for necessary goods is .................... elastic.
(less/more)

726/2,400/KD/54 4 726/2,400/KD/54 [P.T.O.



(h) When TR is maximum, MR will be ................
(Zero/positive/negative)
(8%2=16)

frefafes & wfia s Gfv .

(F) At 7 TAfe sdme § 7= sFRR ¥

(@) 9 # wHE W= o oEd ®?

(M W= e suEfT % frem = gele S
() 9gfF # fram w1 9vir Fifeg

(¥) Ak @a qo TRAfTF U ¥ SRR R Fifu
(@) wn-fai fog = #2

IR T W i wm = g =+

(D) AETEF T FT AT s R g 2
(F/3tfi) |
(¥) 9@ TR 3fusag & £ & MR e e R
(Y[R ST T )

UNIT-I (3a13-1)

What is Mixed Economy ? Explain the features, merits and
demerits of Mixed economy. 16

fufsm srdfemaeen @ =0 afiwrg 27 Tabm erefsmacen #t
fasrometl, o 3 S w1 FuR Fifw

Explain the Law of Demand. Why is it negatively sloped ?
Explain the exceptions of the Law of demand. 16

726/2,400/KD/54 2

o ® e w1 v ST T TR BOTHE 59
¥ 2?2 UM R PrEm P TR IA-IN ¥ 7

UNIT-II ( 3&T8-11)

What are Indifference curves ? Explain the properties of
Indifference curves. 16

T TF T B &7 T faetwae = aviv s

What is Consumer's surplus ? How can it be measured ?

16
U TEE QN AhwE #2 W R 9w W owE
22

UNIT-HI ( $aTE-111 )

What are Returns to scale ? Explain with the help of table
and diagrams. What are the causes of their applicability ?
16

R ® wfawe w0 e ®, afte 3 Wafes gw smen
FY T A TH B T RO T2

What are Internal and External economies and diseconomies
of scale ? Explain with the help of examples. 16

I F A Fed 3 fvEt T oA ¥ SemRw
g

UNIT-IV (¥&1E-1V)
Explain with the help of tables and diagrams the concepts

of Total cost, Average cost and Marginal cost in short-run.
Also explain why AC is U-shaped. 16

726/2,400/KD/54 3 [P.T.O.
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GSE/D-17 734
MUSIC (VOCAL)
(Theory)
Paper-I
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one question
from each unit. All questions carry equal marks.

AT : TOF WE W FH Y FH @ W F T W
FA Gy ® SR AT 9 T ® ofF wER
&

UNIT-I (¥&E-1)

1. Write the notation of Rag Alhaiya Bilawal in Drut Khyal
with two Alaps.

T aRT faome ® 3 E F @ Qe
ofea o 8

2. Write Ektal and Teental with Dugun.

THFAE 3 faE W PE wied fafew 8

3. Write the detailed description of Rag Yaman and Bupali.
W T 7 quet w1 fGwm @ ufem e 8
734/2,800/KD/61 [P.T.O.



UNIT-II (3&tE-11) 8. Write the life-history of Pt. Vishnu Digambar Paluskar Ji
and his contribution to music.

4. Write the a.omaao:m of the following : 1. faw) RomeR TR St @1 SheR-uieE AR T
(@) Vivadi, dfw ¥ T GmEE §, Rl 8
(b) Saptak.
(c) Tali. 9. Write in detail about Rag.
(d) Khali. ™ ® IR ¥ famr ¥ fadE 8

® ferd - 10. Write about Nad and Shruti.

(%) farl e | g
(@) 9|
(M) T
(%) @t (2+2+2+2=8)

5.  Write in detail about Sangeet.
Hig % sk § fg@R | wam) 8

6.  Write the history of Indian Music from Vedic period to 12th
century.

iftd w1 ¥ 2Fff T 9F uRdw w@ha @ e
fag| 8

UNIT-HI ( E-111 )

7.  Write the relationship of Folk music and Classical music.
Trwea 3 e e w5 oo § w owey ¥, fad
8

734/2,800/KD/61 2 734/2,800/KD/61 3
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GSE/D-17 736
MUSIC
(Instrumental)
Paper-1
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one question

e

from each unit. All questions carry equal marks.

TIF TFE A W FY W FH UH W g T F[A
ufer ¥ ® SW AR Tt we ® ofw wEm )

UNIT-I (F&T3-1)

Write the notation of any Maseetkhani Gat of your syllabus
with two Toras. 8

I UEEEd ® fEE ™ ow % wHeeH T #)
wfafs § drel wfea fEfau

Describe Raga Yaman with its Aroh, Avroh and Pakar. 8
[ T F T FW Y IS FRE, FIE a0 TFS
e fafau)

Write the notation of any Razakhani Gat of your syllabus
with two Toras. 8

¥ UEEEE & fFd ot w o#w W ™ #
ety 3 el wiew fafau

736/2,600/KD/422 [P.T.O.



4.

Write the detail about Raga ‘Bupali’ and ‘Alhaiya-Bilawal’.
(4+4=8)

[ SR’ e T oreRa faemee’ ® favw ¥ fammgd®
fafaa)

UNIT-1I ( 3&TE-11 )

Discuss the structure of Sitar and its techniques. 8

foar 1 T9ER d SUB 9 W IFAE F favg o
fram @ fafeu

Write short notes on any two of the following :
(a) Swar.

(b) Raga.

(c) Sapak.

(d) Thaat.

frfefes & @ fFl @ w feomt fafigu:

(F) =

(4+4=8)

(@) T
(M) TF|

(%) 9=

Write in detail about ‘Gat’ and ‘Shruti’, (4+4=8)

_.ﬂ.g.%.%gmﬂﬁﬂﬂm%_

736/2,600/KD/422 2

10.

UNIT-HII ( ¥&E-111 )
Write down the contribution of Ustad Vilayat Khan in the
field of Music. 8
‘SR foemm @ w1 wie # &9 A dem fafau
Write the notation of ‘Teentaal’ and ‘Ektal’ with Ekgun and
Dugun Layakaries. (4+4=8)
'fHa’ dan ‘A’ ® St fawivaell dfew T
T IO T ® fafeg wifEa)
Differentiate between Folk and Classical music. 8

WE T qen WEE S ¥ R T e

736/2,600/KD/422 3
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GSE/D-17 751
OFFICE MANAGEMENT

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal

marks.

M FE | W FH 9f wE ® ofw gue

H.

What is Office Management ? Explain the importance of
office management in a business.

FEEE Y T OE? TE FTE9E ¥ FEEY VoY §
g™ H1 qUN RIS

Describe the functions of a modern office. Bring out the
important departments of a modern office.

TYTFE FEEE F FE F I HIVY SYPrE
FEE ® HEEY favrl w saE)

Define Authority and Responsibility. Also explain the
Centralisation vs. Decentralisation of office services.

Fver @ Tfrel w1 gfeanfya il wafem ot $
FHFO FA FFRLF F JAAREF GeAFT H

Describe the authority and responsibilities of an Office
Manager.

751/1,050/KD/68 [P.T.O.



TF FEEE YEEE F OAYER @ IEA F:ogem
Fiferal

5. What is the status of an Office Manager ? Discuss the
qualifications of the Office Manager.

FAAT FEEE F OF WH L) wEE TEE B
sl w1 FUR HS)

6. Discuss the importance of Office accommodation for a
business.

TF e # T FEee we w1 o' mwe g, 9o
|

7. Discuss the main factors involved in Office layout.

Friea faam ¥ wita 7@ 9= # aul #l1)

8. The efficiency of office employees is directly or indirectly
affected by the conditions under which they are required to
work. Elucidate this statement.

FHEE FEAE ® oA 7 FE-fufta ¥ oy @
FyEd ¥ ¥y B € fe oFwin 3w &
T Rl T HUH W A F

9. State and explain the merits and demerits of Centralised and
Decentralised correspondence in modern office.

TF e FEed | FXFd O fFE=iFd TER ®
Y @ et woFan
751/1,050/KD/68 2

10. “Communication is a very important function of any

business.” Discuss the characteristics of a good system of
internal communication.

“ger fedt HEwm w1 @ o dewq wE #1
F FOR & TH 399 q0® &t fawwmet w1 =
Eapsied

751/1,050/KD/68 3
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GSE/D-17 760
8. () Solve the equation x> ~ 3x2 + 12x + 16 = 0 by Cardon's
method. 2Ya ALGEBRA

Paper : BM-111
(b) Apply Descarte's method to solve the equation

x* = 10x3 + 35x2 = 50x + 24 = Q. 2V5 Time : Three Hours] [Maximum Marks : 27
9. (a) Solve the equation x* — 4x3 ~ 4x2 = 24x + 15 = 0 by Note : Attempt five questions in all. Q. No. 1 is compulsory.
Ferrari’s method. 2% Select one question from each section. All questions carry
.9 equal marks.
(b) Show that the equation x” + x* + 8x + k = O has at least
four imaginary roots for all values of %. 214
gimary ° : Compulsory Question

1. (a) If| A|#0, then adjoint of A is non-singular. Prove it.
1Y

(b) If o is an eigen value of non-singular matrix A, then

prove that E is an eigen value of adj A. 1Y
o

(c) Show that x> + 5x3 + 3x — 10 = 0 has at least two
imaginary roots. 1Y2

(d) Discuss the nature of the roots of the equation
X +2x+1=0, 1%

(e) Find the rank of the matrix

A=

O O N

o W o

 © O
S

760/7,500/KD/74 4 760/7,500/KD/74 [P.T.O.



SECTION-I

2. (a) The rank of the product of two matrices cannot exceed
the rank of either matrix. Prove it, i.e.,
P(AB) < P(A) and P(AB) < P(B). 2Vs
(b) Find the non-singular matrices P and Q such that PAQ
o 2 2 -6
is in normal form where A = . 2V
-1 2 2
3. (a) Verify Cayley-Hamilton theorem for the matrix
2 1 2
A=|5 3 3| and compute AL 215
-1 0 =2
(b) Prove that any two characteristic vectors corresponding
to two distinct characteristic matrix are orthogonal.
212
SECTION-II
4. (a) For what value of A, does the system
-1 2 1iix 1
3 -1 2||y{=1{1] has (i) no solution,
0 1 Allz 1
(ii) unique solution ? PR
(b) If A is a real skew-symmetric martix such that
A2 + 1 = 0, show that A is orthogonal and is of even
order. 2Ys
760/7,500/KD/74 2

5. (a) Reduce the bilinear form
X1yp + XYz = XY+ XYy + X3)3
to the canonical form. Also find the equations of
transformations. 2Y2
(b) Prove that 9x% + y? + 472 + 6xy — 12xz — 4yz is positive
semi-definite. 2Y2
SECTION-III
6. (a) Solve the equation
464 + 883 + 13x% + 2x + 3 =0,
it being given that the sum of two of its roots is zero.
21s
(b) Solve the equation
x4 -0x? +4x+12=0,
given that it has a multiple root. 2Y2
7. (a) Solve the equation
1554 - 8x> - 14x? + 8x -1 =0
given that roots are in H.P. 2%
() If o, B, y are the roots of the equation
Xm+nxw+§+xuc,
find the equation whose roots are o2 - By, B* - yo and
v - ap. 2Ys
760/7,500/KD/74 3 [P.T.O.



(b) The loop of the curve 2ay? = x(x — a)? revolves about
the straight line y = a. Find the volume of the solid

generated.

761/7,500/KD/75

2Ya

Roll No. ....coevennnee. Total Pages : 4
GSE/D-17 761
CALCULUS
Paper : BM-112
Time : Three Hours] [Maximum Marks : 26

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each section.

Compulsory Question
. In?
1. (a) Evaluate Lim —, 1
n—e n
(b) Ify = ae™ + be™™, prove that Yy - my = 0. 15

() U, = ._.Qom x)" dx, show that

U, +nU,_, = x (log x)". 8%
(d) Define Curvature of a circle. 1

(e) Find the area bounded by y? = 4ax and its latus rectum.
1

SECTION-I

2. (a) Show that the function defined by fix) = | x | +]x-1]is
continuous but not derivable at x = 041. 3

(d) If y=em cos™ x prove that

(1= x*)ypsy = @n+Dxy,,, — (n® +m?)y, =0. 2
761/7,500/KD/75 [P.T.O.



3. (@) Iffix) =3+ 242 — 5x + 11, find the value of f .wm
with the help of Taylor's series for fix + h). 2V
(b) Prove that
42
log sin x = log sin 2 + (x - 2) cot 2 - (x mwv cosec? 2
_ 3
+ x wwv cot 2 cosec® 2 + ........00
2Y2
SECTION-II
4. (a) Find the asymptotes of the curve r cos 6 = a sin? 6.
214
b If P1, P2 be radii of curvature at the extremities of a
pair of semi-conjugate diameters of an ellipse, prove
that
Tpvsf APVN;H_SSNB 2 +b? 2
5. (a) Show that the chord of curvature through the pole of
. 4
the cardioid r = a (1 + cos 0) is w r. 2V
(b) Find the points of inflexion on the curve
x2y = a*(x - y). 2Ya
261.7,500/KD/75

(b)

8. (a)

(b)

9. (1)

SECTION-III

Trace the curve r = a(l - sin 0). pr%)

Ifi 6 =

m .
mon cos™ x sin nx dx , prove that

O'——-.N“Q

Hu||wl+§

1
™ m+n m+n

m-1* n-1*

Hence evaluate I 5.
2n

. ) . -2
Connect .TES xcos” x dx with ._.mEs xcos" ™ xdx,

2Y2
2
Find the length of the arc of the parabola ﬂm =1+cos 6
cutt off by its latus rectum. 215
SECTION-IV

Find the area common to the circle x? + y? = 4 and the
ellipse x* + 4y? = 9. 2V,

Find the area of a loop of the curve r2 = a2 cos 26 and
hence find its total area. 2Y2

Find the volume of the solid formed by the revolution
of one arch of the cycloid

x=a(® -sin 8), y = a(l ~ cos 8)
about its base. 2V4

761/7.500/KD/75 3 [P.T.O.
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Time : Three Hours]

GSE/D-17 762

SOLID GEOMETRY
Paper : BM-113

[Maximum Marks : 27

Note : Attempt five questions in all. Select one question each
from Unit-I to Unit-IV. Question No. 9 (Unit-V) is
compulsory.

UNIT-I

Show that the conic 8x* ~ 24xy + 1552 + 48x - 48y = 0
represents a hyperbola. Find its eccentricity, lengths,

equations of axes and foci, and trace it. 5

(a)

(b)

(a)

(b)

Prove that the conics x2 — y2 ~ 4x + 2y +2=0and
x2 + 3y2 ~ 4x - 6y + 4 = 0 are confocal. 21

Find the polar equation of a conic with forms as pole.

2V
UNIT-11

Find the equation of the cone whose vertex is
(-1, 1, 2) and whose guiding curve is 3x2 - y? = 1,
z=0. 2Ya
Find the equation of sphere passing through origin
and meeting the axes at A, B and C points. 21

762/7500/KD/1097 [PT.O.



4. (a)

(b)

(b)

Find the equations of a right circular cylinder of
x-1_y=-2_2z-3
2 1 2

2Ya
Find the equation of the sphere, through the circle
x>+ y* + 72 = 1, 2x + 4y + 5z = 6 and touching the
plane z = 0. 2

UNIT-1II

radius 2 whose axis as the line

Find the equation of the plane which cuts the conicoid
32 + 2y2 - 1522 = 4 in a conic with centre (-2, 3, ~1).

Find the equations of polar of the lines

x=1 _y=-3 z+5
= - = icoid x2 2
5 - > w.r.t. the conicoid x* + 3y

- 7z¢ = 21 = 0 in symmetrical form. 214+2%2

Show that the plane x + 2y + 3z = 2 touches the
conicoid x? — 2y? + 372 = 2, and find the point of
contract. 2V

Prove that six normals can be drawn from a given
point to the ellipsoid. 2V

UNIT-1V

7. Prove that the surface represented by
4x% - y? — 72 + 2yz — 8x — 4y + 8z - 2 = 0 is a hyperbolic
paraboloid. Also find its vertex and the equation to the axis.

5

762/7500/KD/1097 2

8. (a) Find the real central circular section of the ellipsoid

x2 + 2y% + 672 = 8.

24

(b) Find the equations to the generating lines of the

2 2 2

2

hyperboloid W. + = —-—=1 which pass through the

9 16

. 4
point T, -1, Iu .
3

UNIT-V
(Compulsory Question )

9, Answer all the following in short:
(a) Define Ellipsoid of revolution.
(b) Define Cone, its vertex and generator.
(c) Define limiting points of a co-axal system.
(d) Define Confocal conics.
(e) Define Conjugate diameters.
(f) Define Pole and Polar of a conic.
(g) Find the centre and radius of the sphere

22+ 2y +222 - 2x+4y+2:-5=0.

762/7500/KD/1097 3

21s

(1x7=T)



Roll NO. covvirienirininane Total Pages : 3

GSE/D-17 770
POLITICAL SCIENCE
(Indian Constitution)
Paper — 1
Opt. (1)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question
from each unit. Question No. 1 is compulsory.

de ;v T @ TH W IR g T e WA F I
&.@Eﬁmﬁ.ﬁ:%maw_

Compulsory Question
(a9 )
1. () Write down the Preamble of Indian Constitution.

el S F TR S Ead

(iiy Write the mo fundamental duties.
2 s Fi= w1 I@ F

(iii) Describe the two functions of Prime Minister.
qyFER ® & FE =@

(iv) Write a short note on Article 352.
ST 352 W TH WEw e &

(v) What are the functions of speaker of Lok Sabha ?
< o ey @ TN EE BN ¥ ?

770/21,400/KD/1256 [PTO.



(vi) In which Article there is a provision of Amendment
procedure in Indian Constitution ?

IRETg Wiagm § s SR #1 S e o=k
I
(vii) What is Judicial Review.
s [HEIET ¥ Y F T 8 2
(viii)) Who is the Chief Justice of India ?
IR ® & e 9 § 2

(2x8=16)

UNIT-I (3%E-1)
Indian Constitution is a Bag of Borrowing. Do you agree
with this statement ? Explain. 16

IR SfayH T SuR fora me Oen #1 =+ ow @ F e
¥ TEHd §1 Fuie wE

Critically examine the Fundamental Rights under the Indian
Constitution. 16

IR Wfaum o sifea difes ofusil #1 oTaaes
e Hl

UNIT-II (F&-10)
Describe the power, functions and position of the President
of India. 16

Ra & T Ft viiwal, FE o fufy w gl #:{)

770/21,400/KD/1256 2

6. Discuss the composition, power and functions of
Lok Sabha. 16
E [N F A, FE @ S F S

7. Describe the main provision of the 73rd Amendment of
Indian Constitution. 16
738 Wawifrr dovm W e fadtwael ® o w ¥

UNIT-IV (3&TE-1V)

8. Describe the Organisation and Jurisdiction of Supreme
Court of India. 16
IR a2 ® e T@ SFER #: gu W)

9. Give Arguments For and Against Judicial Activism. 16
=g wiFaa % 99 9o faug ® qw Gy

770/21,400/KD/1256 3

Explain the Power, functions of the Chief Minister of
a state. 16

T & GRS & FE @ uiEd # 9u )

UNIT-III (¥&hT3-111)
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GSE/D-17 784

CALCULUS
Paper : BM-112

Time : Three Hours] [Maximum Marks : 40
Note : Attempt five questions in all. Question No. 1 is

compulsory. Select one question from each section.

Compulsory Question

Lt h
1. (a) Evaluate =0[x |’ 2
() Ify = ae™ + be~™, prove that y, = m?y = 0. 2
(c) Define Asymptotes with example. 1
(d) What is a Singular point ? 1

(¢) Find the length of a loop of the curve r = a(6? - D).
2

SECTION-I
2. (a) Discuss the continuity and differentiability of the

function fix) =[x - 1| + | x = 2| in the interval [0, 3].
4

2
) If y= —H_ow Ax + ,: + x? vu_ , prove that

A+ x2)y,., + 2n+1) XYpa1 + 1%y, =0, 4
784/14,200/KD/81 [P.T.O.



u. (a)

Expand sin x and cos x in powers of x, and hence find

cos 18° upto four decimal places. 4
(b) Find the approximate change in the value of
fix) = 5x® = 3x2 + 7x — 8, when x changes from 3 to
3.001. 4
SECTION-II
4. (a) Find all the asymptotes of the curve
x+yP x+y+2)-x-9y+2=0. 4
(b) Find the asymptotes of the curve
r = a(sec? B + cosec? 0). 4
P
S. (a) Show that in an ellipse — + NN. = 1, the radius of
a
curvature at the end of the major axis is equal to the
semi-latus rectum of the ellipse. 4
(b) Show that every point, in which the sine curve
y=c mmzw meets the axis of x, is a point of inflexion.
4
SECTION-III
6. (a) Trace the curve x = a(6 + sin 0), y = a(1 - cos 6). 4
(b) Obtain a reduction formula for ._. x"* cos x dx, and hence
evaluate ‘_.xw cos x dx | 4
784/14,200/KD/81 2

(b)

8. (a)

(b)

(b)

1
Find that the loop of the curve x =12, y =t — wm is of
length 4./3. 4
Find the intrinsic equation of the cardioid
r=a(l - cos 6). 4
SECTION-IV

Trace the curve ay? = x%(a - x), and show that the area

8
f the 1 is —a“, 4
of the loop is T
Find the area common to the circle r = ¢ and the

cardioid » = a(1 + cos 6). 4
The circle x2 + y2 = 42 is revolved about the x-axis.
Find the volume of the sphere so formed. 4

Find the surface of the solid generated by the revolution
of the astroid x23 + y23 = 42/3 about the x-axis. 4

784/14,200/KD/81 3
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GSE/D-17 785

SOLID GEOMETRY
Paper : BM-113

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Select one question each
from Unit-I to Unit-IV. Q. No. 9 (Unit-V) is compulsory.

UNIT-1

1. Show that conic 9x2 + 24xy + 16y2 = 2x + 14y + 1 = 0
represents parabola. Find the coordinates of its vertex and
focus, equation of axis and its direction. Also trace it. 7

2. (a) Prove that the conics x> — y2 = 4x + 2y + 2 = 0 and
x% + 3y? — 4x - 6y + 4 = 0 are confocal. 3%
(b) Find he polar equation of conic with focus as a pole.
R1%)
UNIT-II

3. (a) A sphere of a constant radius r passing through the
origin meets the axis in A, B, C. Show that the locus of
the foot of the perpendicular from origin to the plane
ABC is given by

(P +y?+ ) (2 +y e ) =48 3
(b) Find the equation of the right circular cylinder whose
guiding circle is x* + y* + 22 =9, x -y +z=3. 3%

785/14,200/KD/82 [P.T.O.



4. (a)

(b)

(b)

6. (a)

(b)

Find the equation of the right circular cone, whose
vertex is (2, =3, 5), axis makes equal angle with the
axes and which passes through the point (1, -2, 3).
3
Find the equation of the sphere which touches the plane
3x + 2y — z + 2 = 0 at the point (1, -2, 1) and cuts

orthogonally the sphere x? + y? + 22 — 4x + 6y + 4 =0.
3,

UNIT-III

Find the equations of the tangent planes to
2x2 - 6y? + 372 = 5 which pass through the line
x+9y-32=0, 3x-3y+6z-5=0. 4
Find the centre of the conic given by the equation
2x-2y~5z+5=0,3x2+2y2 - 1522 = 4. 4

Prove that the sum of the squares of the reciprocals of
any three mutually perpendicular diameters of an
ellipsoid is constant. 4

Find the equations of the polar of the line

x-1_ y=-3_2z+5
5 7 2
22 + 3y? = 772 - 21 = 0 in the symmetrical form. 4

with respect to the conicoid

UNIT-1V

Show that the plane 8x — 6y — z = 5 touches the
paraboloid 3x2 - 2y? = 6z. Also find the point of
contact. 4

785/14,200/KD/82 2

w.

(b) Find the equations to the generating lines of the

R
hyperboloid ” + 516 =1 which pass through the

point (2, 3, —4). 4

Reduce the equation

11x2+ 10y% + 672 -8yz+4zx—12xy +72x =72y
+36z+150=0

to the standard form and show that it represents an ellipsoid,
and find the equations of the axes. 8

UNIT-V
(Compulsory Question)

(a) Find the asymptotes of the hyperbola

X2 —4xy — 5y% + 6x + 42y - 63 = 0. 2
(b) Find the centre of the conic
5x2 + 6xy + Sy* + 4x + 12y -4 = 0. 2

(c) Find the centre and radius of the sphere
R2+y?+2-2x-4y-62-2=0. 2

(d) Find the equations of the tangent planes to the surface
x2 — 2y% + 372 = 2 which are parallel to the plane
x=-2y+3z=0. 2

(¢) Find the equation of plane which cuts the paraboloid
x2 — 2y = z in a conic with its centre at the point
(2, 372, 4). 2

785/14,200/KD/82 3



(b) Define Root mean square value of a.c. and show that Roll No. ....cuceveuneene.. Total Pages : 4

peak value of ac. is /7 times the root mean square GSE/D-17 791
value, 3 PHYSICS
(Electricity, Magnetism and Electromagnetic Theory)
Paper-11
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each unit. Attempt
all parts of a question at one place only. Use of simple
non-programmable calculator is allowed.

Compulsory Question
1. Attempt any four parts :

(a) Distinguish between Solenoidal and Irrotational vector
fields.

(b) Why is steel a better choice than soft iron for making
permanent magnets ?

(c) What are Paramagnetic materials ? State Curie law for
such a material.

(d) Discuss the significance of Poynting theorem. Give S.I.
unit of Poynting vector.

() At what frequency, the capacitive reactance of a
capacitor of 1 uF will be 1 kQ ? (2x4=8)

791/13,000/KD/86 4 791/13,000/KD/86 [P.T.O.



UNIT-1

2. (a) Discuss physical significance of the gradient of a scalar

function. 3

(b) State and prove Stoke's theorem. 5

3. (a) State Gauss's law in Electrostatics. Derive Coulomb's

law from it. 4

(b) Derive expression for mechanical force and electrical

~ pressure on the surface of a charged conductor. 4

UNIT-II

4. (a) Derive the relation V x B = .:ow , where B is magnetic

induction and J is current density vectors. 3

(b) Describe Langevin's theory of diamagnetism, and derive

relation for magnetic susceptibility of a diamagnetic

material. 5

5. (a) What is Magnetic hysteresis ? Show that hysteresis loss

per unit volume per cycle of magnetization in a

ferromagnetic material is equal to the area under B—H

curve. 4

(b) What is Curie temperature of a ferromagnetic material ?

2

(c) The magnetic susceptibility of platinum is 30 x 1075,

Calculate its absolute and relative permeabilities. 2
791/13,000/KD/86 2

6. (a)

(b)

7. (@

(b)
(c)

(b)

UNIT-III

Derive the following Maxwell' equations :

@@"b and quulﬂww.
Give their physical significance. 5
Derive relation for magnetic vector potential. 3

Derive boundary condition for electric displacement D
at interface between two media. 4

What is Displacement current ? Explain. 2

How electric and magnetic fields are related to each
other at a point in an electromagnetic wave ? 2

UNIT-1V

Using j-operator, obtain relation for impedance and
phase relationship between alternating e.m.f. and
alternating current in a circuit containing capacitor ‘C’
and resistor ‘R’ in series. Draw the phasor diagram.

5

An electric lamp runs at 80 V d.c. and consumes 10 A.
It is to be used with 100 V, 50 Hz a.c. supply. Calculate
the inductance of choke required. 3

Analyse a series resonant circuit to derive relation for
its resonant frequency. Draw graph showing variation
of a.c. with frequency, and explain the shape of graph.
Discuss the applications of this type of circuits. 5

791/13,000/KD/86 3 [P.T.O.



(iii) Ionization energy of Mg (IF,) = 2186.0 kJ Roll No.

U Total Pages : 4
mol-1.

GSE/D-17 792

CHEMISTRY
(Inorganic Chemistry)

(iv) Electron affinity of Fluorine = -332.6 kJ mol-!.
(v) Lattice energy of MgF, = ~2922.5 kJ mol-.

(2V2)
Paper-I
(b) What are Fajan rules ? (1v)
ive the diff - -
(¢) Give the differences between n-type and p-type Time : Three Hours] [Maximum Marks : 32

semiconductors. 2
Note : Attempt five questions in all. Question No. 1 is

compulsory. Select two questions each from Section-A
and Section-B.

Compulsory Question
1. (a) How many nodes and nodal planes are present in
3 dxy orbitals ?
(b) Give an expression for Schrodinger wave equation.
(c) Which has smaller size between H™ and He, explain.

(d) Which has higher melting point between NaF and
NaCl ?

(e) Why NaCl is soluble in water but AgCl is insoluble ?
)
(f) Which is more stable between NO and NO ?

(8) Explain the geometry of ICI; ion on the basis of
VSEPR theory.

(h) Why 4-s orbital is filled first than 3-d orbital ?
(1x8=8)
792/12,600/KD/87 4 792/12,600/KD/87 [P.T.O.



SECTION-A

2. (a) State Heisenberg's Uncertainty principle and its
significance in daily life. 2
(b) What is Hund's rule of maximum multiplicity ? 2
© Calculate effective nuclear charge for 5s electron of
silver (Z = 47). 2
3. (a) What is Aufbau Principle ? Give its limitations. 2
(b) Calculate the uncertainty in velocity of a cricket ball of
mass 300 g, if the uncertainty in position (Ax) is of the
order 1A. (h = 6.6 x10734 Js), 2
(c) Give the values of n and [ for the following subshells :
3d, 5f, 7s, 6p. 2
4. (a) What is Sanderson's scale of electronegativity ? 2
(b) Explain Ionic radii and how it is measured. 2
(c) What is Ionisation energy ? Give the factors on which
it depends upon. 2
5. (a) Discuss various factors on which electronegativity
depends upon. Which element has highest
electronegativity ? 2
(b) What are Representative and Inner transltion elements ?
2
(c) Which has high ionisation energy between beryllium
and boron, explain. 2

792/12,600/KD/87 2

(b)

©

(b)

(©)

8. (a)
(b)

(©)

SECTION-B
Explain Valence Bond theory, for the formation of
hydrogen molecule with improvement. 2

According to Valence Bond theory oxygen molecule
is diamagnetic but Molecular orbital theory explains its
paramagnetic nature, justify it. 2

Explain the structure of PF5 on the basis of

hybridisation. 2
Discuss the shape of Xenon difluoride XeF, on the
basis of hybridisation. 2
Explain the effect of electronegativity on the shapes of
molecules. 2
Discuss the structure of SF, on the basis of VSEPR
theory. 2
Explain the structure of Zinc blende. 2

What is Radius ratio rule ? Explain its limitations also.
2

Explain lattice defects in non-stoichiometric crystals
and their consequences. 2
Calculate the heat of formation of MgF, from the

following data :

(i) Sublimation energy of Magnesium
= 136.4 kJ mol-L.

(i) Dissociation energy of Fluorine = 158.8 kJ mol™1.

792/12,600/KD/87 v 3



(b) A five-fold axis of symmetry cannot be present in any
crystal. Why ? 1

(¢) A crystal intercepts the three axes of a crystal at the

3
multiples of Px 2 and 1 of the axial lengths. What are
the Miller indices of this plane ? 2
794/12,600/KD/89 4

Roll No. ............. Total Pages : 4

GSE/P-2 794

CHEMISTRY
(Physical Chemistry)
Paper-II

Time : Three Hours] [Maximum Marks : 32

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select two questions from each section. Log
tables are available.

Compulsory Question

1. (a) Distinguish between an ideal gas and a real gas. Explain
graphically in terms of compressibility factor how real
gases show deviation from ideal behaviour. 3

(b) At 20°C, the density of water is 0.9983 g cm~! and its
viscosity is 0.010087 poise. Explain how these figures
indicate the water is an associated liquid. 2

(¢) Why ether has higher vapour pressure than benzene at
the same temperature ? 1

(d) Briefly explain the Law of constancy of interfacial
angles. 2

SECTION-A

2. (a) Explain the significance of Vander Waal's constants ‘a’
and ‘b’ 2

(b) Using Vander Waal's equation, derive the reduced
equation of state. 4

794/12,600/KD/89 [P.T.O.



(b)

(c)

(b)

(c)

6. (a

Define (i) Critical Temperature, (ii) Critical Pressure,
and (iii) Critical Volume. Write expressions for critical
constants in terms of Vander Waal's constants. 25

The reduced volume and reduced temperature of a gas
are 10.2 and 0.7 respectively. What will be its pressure
if its critical pressure is 42 atmosphere ? 21

Two Vander Waal's gases have the same value of ‘b’
but different ‘¢’ values. Which of these will occupy
lesser volume under identical conditions ? 1

Briefly explain the terms (i) Root mean square velocity,
(i) Average velocity, and (iii) Most probable velocity.
3

Calculate mean free path of oxygen molecules at 0°C
and one atmospheric pressure, given that the molecular
diameter of oxygen molecules is 2 x 1078 cm. 3
Calculate the temperature at which the hydrogen
molecules will have an average velocity of
176400 cm s~1. (R = 8.314 x 107 ergs/degree/mol) 2

Why do real gases show deviations from ideal
behaviour ? 1%2

Defne (i) Collision number, (ii) Collision frequency, and
(iii) Mean free path. Write expressions for each of them.
2lh

SECTION-B

Describe Ostwald's method for determining viscosity
of the liquid. 2

794/12,600/KD/89 2

(b)

(©)

(b)

(c)

(b)

(©)

Briefly explain the terms ‘Optical activity’ and ‘Specific
rotation’. 2
A solution of a certain optically active substance in water
containing 1.56 g in 100 ml rotated polarized light 4.91°
in a polarimeter which had a cell 20 cm long. The ‘D’
line of sodium was used as a light source. Calculate
the specific rotation. 2

Why is cooling caused by evaporation ? 1

What is Parachor ? Describe briefly the effect of
temperature on surface tension. 3

At what angle will X-rays of wavelength
1.542 x 10719 m undergo second order reflection by
planes separated by 3.5 x 10710 m ? 2

What are Primitive and Non-primitive unit cells ?
Calculate the number of particles per unit cell in each
of them. 2

Derive Bragg's equation for the diffraction of X-rays
by crystals. 3

Name one condition under which the crystals of the
same substance may give different shapes of the
crystals. 1

Explain the terms (i) Axis of symmetry, (ii) Plane of
symmetry, and (iii) Centre of symmetry. 3

794/12,600/KD/89 3 [P.T.O.



7. (a) Why triplet-curbene is more stable than singlet
carbene ?

(b) Explain the stability of carbanions on the basis of
different types of hybridisations.

(c) Define Free rudicals. Explain structure, hybridsation and
no. of electrons around central carbon atom in free
radical. (3x2)

8. (a) What is Corey-House reaction ? Discuss its advantage
over Wurtz reaction.

(b) n-alkanes with even no. of carbon atoms melt at higher
temp. than those with odd no. of carbon atoms.

(c) How can you synthesize n-butane from the following
compounds.

(i) Ethyl bromide.

(ii) Pentanoic acid. (3x2)
9. (a) How would you prepare the following :

(i) Cyclopropane.

(ii) Cyclopentane.

(b) Give important postulates of Baeyer's Strain theory.

(c) Calculate % of n-butyl bromide and sec. butyl bromide
by bromination of n-butane. (Reactivity of 3°, 2°, 1°
hydrogens in bromination is 1600 : 82 : 1) (3x%2)

796/12,600/KD/91 4
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Time : Three Hours]

Note :

(b)

(c)
(d)
(e)

®
9]
(h)

2. (a

(b)

Total Pages : 4

GSE/D-17 796

CHEMISTRY
(Organic Chemistry)
Paper-III

[Maximum Marks : 32

Attempt five questions in all. Q. No. 1 is compulsory.
Select two questions from each section.

Compulsory Question

Define Resonance energy.

Give other name of ‘Mesomerism’ and ‘No-bond
Resonance’.

Name the process of separation of recemic mixture.
What is Plane polarised light ?

In which reaction intermediate the hybridisation of
central carbon is ‘sp’ ?

Why NH; acts as nucleophile ?
Which alkane cannot be prepared by Wurtz reaction ?

What do you understand by Strainless rings ? (1x8=8)
SECTION-I

How do you justify the acidic character of carboxylic
acids in terms of resonance ?

What are + E and - E effects ? Explain with one example
of each.

796/12,600/KD/91 [P.T.O.



(c) What is the difference between Localised and
Delocalised chemical bonds ? Explain with examples.
(2x3)
3. (a) Explain Molecular chirality. Is it the necessary and
sufficient condition for a molecule to show optical
activity ?
(b) Differentiate between Enantiomers and Diastereomers
with examples. (2x3)
4. (a) Discuss briefly the cause and conditions for compounds
to show geometrical isomerism,
(b) Assign E and Z configurations to the following :
(i) Malic acid.
H,C CHO
AN /
C=C
(i) / AN
CH,=CH H
N _/
C
1
i) ¢
. o\ Ny
]
/ o/
H CH,
(2x3)
796/12,600/KD/91 2

5. (a) Draw Newmann projection formulae of different
conformations of n-butane and give their probability
order.

(b) Assign R and S configurations to the following :
CH =CH,
G H CH,CH,
COOH
H
(i) H,C CHO
CH,OH
CHO
(i) H OH (2x3)
CH,OH
SECTION-II

6. (a) Allyl carbocations are more stable than allayl

carbocations. Explain.
(b) Define Electrophiles and select them from the following,
giving reasons :
e @
H,0, BF;, NH;, AICL;, CN, NO,.
(c) What are ‘Elimination Reactions’ ? Explain with
examples. (3x2)
796/12,600/KD/91 3 [P.T.O.



(iv) Bring up.

(v) Fall out.

(vi) By hook or by crook.
(vii) Fair and square.

(viil) Give way.

(ix) In the long run.

798/13,300/KD/96 6

Roll No. oo Total Pages : 6
GSE/D-17 798
ENGLISH

Time : Three Hours] [Maximum Marks : 40

Note : Attempt all questions.

1. Read the passage given below and answer the questions that
follow : (1x5=5)

And we are put on earth a little space,
That we may learn to bear the beams of love;
And these black bodies and this sunburnt face
Is but a cloud, and like a shady grove.
For when our souls have learned the heat to bear
The cloud will vanish. we shall hear his voice,
Saying : “Come out from the grove, My love and care,
And round my golden tent like lambs rejoice.”
Questions
(a) Name the poem and the poet.
(b) Whose beams of love we may learn to bear ?
(c) What are man's black bodies and sunburnt faces ?
(d) When will the cloud of our skin vanish ?
(e) How will then God call us ?
OR

798:13,300/KD/96 [P.T.O.
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‘She shall be sportive as the fawn 3.
That wild with glee across the lawn

Or up the mountain springs;

And hers shall be the breathing balm,
And hers the silence and the calm

Of mute insensate things.

Questions :

(@) Who will be sportive as the fawn ?
(b) What will she do across the lawn ?
(¢) How will she 80 up the mountain ?
(d) What kind of life will she live ?

() What does the poet mean by ‘mute insensate things’ ?

Explain with reference to the context : 3
Thou art slave to fate, chance, kings and desperate men,
And dost with poison, war, and sickness dwell,
And poppy, or charms can make up sleep as well,
And better than they stroke, why swell'st thou then?
OR
Chaos of thought and passion, all confused:
Still by himself abused, or disabused:
Created half to rise, and half to fall;
Great Lord of all things, yet a prey to all.

798/13,300/KD/96 3

Answer any three of the following briefly : (3x2=6)

(a) How and why is the heavenly vision perceived in
childhood dimmed as one grows old ?

OR
Why can't his soul regain its pristine glory ?
(b) Why is the King George III despised ?
OR
What makes England ‘fainting country’ for Shelley ?
(c) How does Milton regret the loss of his ‘light’ ?
OR
How does Patience forestall the poet's anguish ?
(d) Whom does Flecknoe choose his successor, and why ?
OR

Explain ‘But Shadwell never deviates into sense.’

How does Shakespeare define true love ? 6
OR

Tennyson celebrates death. Elaborate and comment.
(Crossing the Bar)

Translate the following passage into English :

Tell FOETW e ww HEEw ¥ W T 7 S
T T ¥ oA W, R o wgem w
g&ﬁw_@&@ﬁﬂmﬂﬁﬁﬂw%@ﬁ
et #1 TR o wEA F W ¥ B 2 ww @

[P.T.O.
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2 W ™ wifmly dw ? e w® ow ok wft @
famfedl ® e & o &1 e faarfeal 3 9 faa
TRa ¥ afek oiie wuiell ¥ «ff wgg AW FEmn R

OR

(For Non-Hindi speaking/Foreign students)
Read the passage and answer the questions that follow :

Among all the gifts you can gift to a child, there is none
more likely to add richness than a book. Not a book but the
habit of reading. Give him the habit of reading and that too
with discrimination and you have done something for which
he may be thankful to you for all his life. Books should be
the daily companions of the child's life. And they ought not
to be associated with the school. Don't make him feel that
reading is a task, a lessson. It is the fun he gets out of reading
that needs to be emphasized. Let him enjoy reading that
needs to be emphasized. Let him enjoy reading. Let it be a
treasured part of his daily life. There is hardly any activity-
a dream or ambition— that reading will not help.

Questions :

(a) What is the most valuable gift we can give to a child ?
(b) What should the child be made to learn ?

(c) What ought not to be associated with the school ?

(d) In what way will reading help a child ?

798/13,300/KD/96 4

6.

Write a paragraph of about 250 words on any one of the
following topics : 6

(a) Terrorism.

(b) Pleasures of Reading.

(¢) Women Empowerment.

(d) Internet — A Modern Day Asset.
(e) Value of Sports.

Attempt any ten of the following : 10
(a) Fill in the blanks with appropriate prepositions :

(i) The house was replete ............... rats.

(ii) He studied ................ Oxford.

(ili) Heis indebted ........... ...... his friends for their help.
(iv) Happiness consists ................... satisfaction.

(b) Correct the following sentences :
(i) One should do his duty.
(ii) Sita is my cousin sister.
(iii) The cattles are grazing in the field.
(iv) Neither of these two boys are going to pass.
(v) The English is spoken by English.
(¢) Use the following in sentences of your own :
(i) Abide by.
(ii) See through.

(iii) Run over.

798/13,300/KD/96 5 [P.T.O.
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GSE/D-17 801
BOTANY
(Diversity of Microbes)
Paper-1
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select two questions from each unit. Draw neat and well
labelled diagrams where they are necessary.

Compulsory Question
1. Explain the following :
(a) Nucleoid.
(b) Gram stain.
(c) Antibiotics.
(d) Gametophyte.
(e) Coenocytic.
(f) Name of Alga having gongrosira stage.
(g) Late Blight of Potato is caused by which fungus?

(h) Name the secondary host of Puccinia graminis tritici.
(1x8=8)

801/5,400/KD/99 [P.T.O.



UNIT-1

2. Write short notes on the following :
(a) Binary fission in Bacteria.
(b) Role of Bacteria in Industry.
(¢) Heterocyst. (4+2+2=8)
3. Describe Asexual reproduction in Volvox with suitable
diagrams. 8
4. (a) Write short note on Synzoospore.
(b) Write the uses of Algae in Agriculture and Industry.
(c) Draw well labelled diagram of Oedogonium cell.
(3+3+2=8)
5. Give the diagrammatic representation of life-cycle of
Ectocarpus showing sexual and asexual reproduction. 8
UNIT-I1
6. (a) What is the Biological status of viruses ?
(b) Describe the structure of a Bacteriophage with the help
of a well labelled diagram. (3+5=8)
7. Explain the following :
(a) Asexual reproduction in Phytophthora.
(b) Sporangium structure in Mucor. (6+2=8)
801/5,400/KD/99 2

(a) Give the systematic position of Penicillium.
(b) Explain Gill structure in Agaricus.

(c) Write symptoms of Red rot of Sugarcane. (2+4+2=8)

Explain the following :
(a) Uredinial and Aecidial stages of Puccinia.

(b) Crustose lichen and Poliose lichen. (4+4=8)

801/5,400/KD/99 3
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GSE/D-17 802
BOTANY
(Cell Biology)
Paper - 11
Time : Three Hours] {Maximum Marks : 40
Note : Attempt five questions in all. Question No. 1 is compulsory

(b)
(©)
(d)

(e)

®

(g)
(h)

(Short answer type), select two questions from each unit.
All questions carry equal marks. Draw neat and well
labelled diagrams where necessary.

Compulsory Question
Name the disc-like structure present on the outside of
primary constriction.
What is Chiasma ?
What are Tunnel proteins ?

Name an aneuploid having one additional
isochromosome.

Name the scientist who actually observed lysosomes
under an electronic microscope.

Which structure forms the spindle fibres in the plant cell
during division ?

What is Synaptinemal complex ?

What is Tandem duplication ? (1x8=8)

802/5,400/KD/100 [P.T.O.



UNIT-I

2, (a) Define Plasma membrane. Describe its structure.

(b) Differentiate between Primary and Secondary wall.

(5+3)

3. With the help of suitable diagrams explain the ultra-structure

and functions of Mitochondria. 8
4. (a) Write a short note on Golgi apparatus. 4

(b) Describe the structure of Nucleolus. 4
5. Explain the structure and functions of the following :

(a) Peroxiosomes.

(b) Vocuoles. (4+4)

UNIT-II

6.  Write short notes on the following :

(a) Polytene chromosomes.

(b) Euchromatin and Heterochromatin. 4+4)
7. What is Cell cycle ? Describe the process of mitosis in plant

cell with suitable well labelled diagrams. 8
802/5,400/KD/100 2

(a) Define Polyploidy. Discuss the role of Polyploidy in plant
breeding.

(b) Give a brief account of sex determination in plants.
(5+3)

What are Translocations ? Explain with suitable examples.
Give its significance. 8

802/5,400/KD/100 3
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GSE/D-17 803

ZOOLOGY
(Life and Diversity from Protozoa to Porifera and
Cell Biology-I)
Paper : 1

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt two questions from section A and two questions
from section B.

Compulsory Question

1. Write short notes on :
(a) Schizogony.
(b) Schuffner's granules.
(c) Excystation.
(d) Amphiblastula.
(e) Pentactine.
(f) Plasmolysis.
(2) Wowacm_ bodies.
(h) Dobber's dot.
(i) Autophagy.

(j) Microtubule associated proteins. (1x10=10)

803/5,400/KD/232 [P.T.O.



SECTION-A

2. (ay Explainin detail the erythrocytic schizogon: ! 1i.l:.al
purasite Plasmodium. 4l
(b) Polymorphism in Trypanosoma. 3
3. Explain in brief :
(a) Encystation and metacystic development of / nicmoeb::
histolytica. 3t
(b) Ookinete and sporogony in Plasmodium. 4
4. Classify the Phylum Porifera upto order level giving the
characters and examples of each group. 7v2
5. (a) Describe four grades of the Levconoid canal system in
sponges. 4
(b) Discuss the development of scypha in detail. 32
SECTION-B
6. (a) Describe the ultrastructure of Microfilaments. 5
(b) Differentiate between centriole and Basal body. 2
7. (a) Describe different views regarding the biogenesis of
Mitochondria. 4
(b) List of function of Lysosomes. RE%)
803/5,400/KD/232 2

(a)
(b)

(a)

(b)

Discuss polymorphism in lysosomes. 5
Explain various modification of Endoplasmic reticulum.

2V
Write in detail on the modification of the plasma
membrane. h17)

Differentiate between diffusion and osmosis. 2.

803/5,400/KD/232 3
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GSE/D-17 804

ZOOLOGY
(Life and Diversity from Coelenterata to Helminths
and Cell Biology-II)
Paper-I1

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Q. No. 1 is compulsory.
Select two questions each from Section A and B. Draw
well labelled diagrams also.

Compulsory Question

1. Answer the following questions in not more than 20 words
(a) What is Organ system level of organization ?
(b) Define Polymorphism.
(¢) What is Metagenesis ?
(d) What is Polyembryony ?
(e) What are Protonephridia ?
(f) What is Sat-chromosome ?
(g) What are Sese-chromosomes ?
(h) Define Chiasma.
(i) What is Leukaemia ?
() What is Agglutination ? (1x10=10)

804/5,400/KD/101 [P.T.O.



(b)

(b)

4. (a)

(b)

SECTION-A
Explain the structure of the Medusa of Obelia. 3

Describe the structure and function of Statocyst. 4

Give the general characters of Phylum Coelenterata.
3

Define Polymorphism. Write about various zooids
found in Coelenterates. 4

Describe about the phenomenon of Delayed
Polyembryony of Fasciola hepatica. 5

Briefly write about the digestive system of Fasciola
hepatica. 2

5. Describe the life-history, mode of infection and pathogenicity

of Trichinella and Schistosoma. TVa
SECTION-B

6. (a) Explain the structure and functions of Nucleosome.
415
(b) Draw well labelled diagram of Eukaryotic Nucleus. 3

7. (a) Explain the process of Synapsis and Crossing over.
%)
(b) Write down the differences between Karyokinesis and
Cytokinesis. 3

804/5,400/KD/101 2

(a)
(b)

(a)

(b)

Write about the different types of Cancer. 3

How Cancer is treated ? Explain the various methods.
4

Differentiate between Active and Passivee Immunity.
4

Describe the different types of B-lymphocytes and
T-lymphocytes. K}%)

804/5,400/KD/101 3
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GSE/D-17 807
ELECTRONICS
(Electronic Devices and Circuits-I)
Paper-I (Theory)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting one question from
each unit. Question No. 1 is compulsory.

Compulsory Question
1. (a) Justify the statement that "Majority Carrier diffuses
across P-N junction under Forward Bias Condition."
(b) Discuss the disadvantages of Center Tapped FWR.
(¢c) Why Bias region is kept thin and very lightly doped?
(d) Why CE configuration is preferred over other
configurations? (2x4=8)

UNIT-I

2. (a) Define and explain the following:
(i) Drift and Diffusion Current.

(ii) Space Charge Capacitor and Diffusion Capacitor.
(2x2=4)

(b) Give a comparative study between Avalanche Breakdown
and Zener Breakdown. 4

807/2,500/KD/104 [P.T.O.



3. (a)

Define and explain Line Regulation and Load Regulation.

(2x2=4)
(b) Explain the working of Negative Reference Level series
clipping circuit in detail. 4
UNIT-II
4. (a) Discuss the working of a Bridge FWR circuit in detail.
(5)
(b) Define and derive an expression for RMS value of output
in a Bridge FWR circuit. 3
S. (a) Designa Voltage doubler circuit and explain its working.
4)
(b) Explain the working of LC filter and also derive an
expression for ripple factor in it. 4)
UNIT-III

6. (a) Discuss Transistor Current components of a transistor
Biased in Active mode in detail. @)
(b) Explain Active, Cutoff and Saturation regions in Output
characteristics curve of CB Configuration. 4)
7. (a) What do you mean by "Transistor as an Amplifier"?
Discuss in detail. 4)
(b) Discuss Input Static characteristics curves of CE
configuration. @

807/2,500/KD/104 2

(a)
(b)

(a)
(b)

UNIT-1V

Obtain h-model of Transistor in CE configuration. (5)
Draw Circuit diagram of Emitter follower and explain

its working. 3

State and Explain Miller's Dual Theorem. 4

Derive an expression for Voltage Gain with source and
Output Conductance using h-model of transistor.  (4)

807/2,500/KD/104 3



Roll No. v, Total Pages : 3

GSE/D-17 808

ELECTRONICS
(Digital Electronics-I)
Paper-II (Theory)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select one question from each unit.

Compulsory Question

1. (a) Explain how negative numbers are represented in Binary
Number System.

(b) Why NAND logic gate is called Universal logic gate?
(c) Define and explain Propagation delay.

(d) Why DTL gates are not used in industrial environment?

(2x4=8)
UNIT-I
2, (a) Find P, Q and R in the following :
C>v3 = QJN = AOvm = Qﬂfo. (3)
(b) Discuss BCD codes in detail. 5

808/2,500/KD/105 [P.T.O.



Perform the following operations using 1’s complement
method :

2710~ (16) 4. 3)
(b) Discuss EBCDIC codes in detail., (5)
UNIT-II
4. (a) Define and explain Duality Principle using suitable
diagram. (3)
(b) Simplify the following using K-map and implement using
NOR gates only : S
f(A,B,C,D)
= (0,1,2,58,10,11,14,15) + Y (2.4,10).
1 ¢
5. (a) Define and discuss XNOR and NAND gates. (Y]
(b) Prove the following identities :
1) XY+XZ+XYZ=XY+XZ
i) XY +YZ+ZX =X'Y+Y Z+Z X
(2%2=4)
UNIT-III
6. (a) Define and discuss (i) Fan-in, and (ii) Noise margin.
(4)
(b) Explain the operation of RTL NOR gates. 4)
808/2,500/KD/105 2

7. (a)
(b)
8. (a)
()
9. (a
(b)

Explain the operation of DTL NAND gates. 4)

Discuss Loading and Fan-out in DTL NAND gates. (4)

UNIT-IV

Explain logic operation of HTL NAND gate. 4)

Discuss Current-Sink logic and Power Dissipation in TTL
NAND gate. 4)

Explain the working of MOS NAND gate in detail. (4)
Discuss Power Dissipation in MOS NAND gate. (4)

808/2,500/KD/105 3
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GSE/D-17 809
COMPUTER SCIENCE

(Computer and Programming Fundamentals)
Paper-1

[Maximum Marks : 40

Note : Attempt five questions in all by selecting one question from

1.

each unit. Question number 1 is compulsory. All questions
carry equal marks.

Compulsory Question

Define the terms :
(a) Translators.
(b) Flash Memory.
(¢) Motherboard.

(d) Ports. (2x4=8)

UNIT-I

(a) Define Computer alongwith its components. What are
the basic characteristics of computer system?

(b) Explain the application of computers in various fields.

(2x4=8)
Differentiate between :
(a) Primary vs. Secondary Memory.
(b) RAM vs. ROM. (2x4=8)

809/3,800/KD/106 [P.T.O.

UNIT-II
4., (a) Define theterm hardware and software. Also explain how
the two are related to each other?
(b) Explain the types of software used in computer system.
(4x2=8)
5. What do you mean by Operating System? Explain the
characteristics of following Operating Systems:
(a) Time Sharing.
(b) Real Time.
(¢) Multitasking. 8
UNIT-1II
6. Define the term Debugging. Explain the types of errors
occurring in a program. How they can be removed? 8
7. Define Algorithm. What are the characteristics of algorithm?
Write an algorithm to find HCF of given numbers. 8
UNIT-1V
8. What do you mean by sorting techniques? Explain Insertion
Sort in detail. 8
9. Define Computer Language and explain the generations of
computer languages. 8
809/3,800/KD/106 2
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GSE/D-17 811

COMPUTER SCIENCE
(PC Software)
Paper-I1

[Maximum Marks : 40

Attempt five question in all, selecting one question from
each unit. Question No. 1 is compulsory. All questions
carry equal marks.

Compulsory Question

What is screen saver ? Write steps to change screen saver,
What is a Style ? Write steps to use Readymade Style.

Compare relative addressing and absolute addressing in
MS-Excel.

What are handouts and speaker notes in PowerPoint.
(2x4=8)
UNIT-1

What is a Window? Discuss its types with examples.

What is an Icon? Discuss various type of Icons. Write
Steps to create Shortcut Icon. (4x2=8)

3. Write note on the following:

(@)

Adding Hardware to Computer.

(b) Overview of Window Accessories Word Pad and Paint.

(4x2=8)

811/3,800/KD/107 [P.T.O.

UNIT-11

4. (a) Explain Paragraph Formatting features in MS-Word.

(b) What is Autocorrect ? Explain by using suitable
examples. (4x2=8)

5. (a) Discuss Mail Merge with example.

(b) What is Macro ? Write steps to Record and Run a macro

in MS-Word. Give Example. (4x2=8)

UNIT-III

6. (a) What is function in MS-EXCEL? Explain any four
Mathematical Functions by taking examples.

(b) Whatis Editing? How editing is performed in MS-Excel?

(3+5=8)

7. (a) Explain with examples Goal Seek and Sorting in

MS-Excel.

(b) What is the purpose of Consolidation? How you can
consolidate data in MS-Excel? Write steps with
examples. (4x2=8)

UNIT-1V
8. (a) How can you create and Manipulate your presentation ?
Explain with examples.
(b) Discuss Organizational Charts in PowerPoint. (4x2=8)
9. Explain Transition and Animation in PowerPoint. Take
examples of your choice. 8
811/3,800/KD/107 2
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GSE/D-17 813

COMPUTER APPLICATIONS
(Fundamentals of Computers and
Windows Operating System)
Paper-I1

Time : Three Hours] [Maximum Marks : 40

Note : Question No. 1 is compulsory. Attempt any four questions
out of units I, II, III, and IV by selecting one question
from each Unit. All questions carry equal marks.

Compulsory Question

1. (a) Explain BCD and ABCDIC coding.
(b) What is Voice Recognition? Explain.
(c) What is Static RAM.

(d) Explain the terms : Recycle Bin, My Documents.

(2x4=8)
UNIT-I
2.  Write short note on the following :
(a) CPU.
(b) ALU.
(c¢) Control Unit.
(d) Memory Unit. (4x2=8)

813/2,000/KD/108 [P.T.O.



3. (a) Convert following Decimal Number in to Octal Number
(1) 1692.025 (ii) 225.225.

(b) Convert following Decimal Number into Hexa-Decimal

Numbers (i) 7547 (ii) 5279. (2x4=8)
UNIT-1I
4. Explain in detail Inkjet and Laser printer. 8

5. Explain the following :
(a) Bar Code Reader.
(b) Digitizing Tablet.
(¢) Scanner.

(d) Light Pen. 8
UNIT-HI

6. What is RAM and ROM? Explain their use in computer
memory. Explain various types of ROM available. 8

7. Classify, Magnetic Disks. Compare Magnetic Disk and
Magnetic Tape Storage Devices. 8

UNIT-1V

8. What are the functions of an Operating System? Explain in
detail. 8

813/2,000/KD/108 2

(@)

(b)

(©)

Write the steps to create file and folders in windows
operating system.

How do we change date and time in windows operating
system ?

How do we install a printer in windows operating
system ? (2,3,2)

813/2,000/KD/108 3
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GSE/D-17 815
COMPUTER APPLICATIONS
(Office Automation Tools)
Paper-II
Time : Three Hours] [Maximum Marks : 40

Note : Question No. 1 is compulsory. In addition, attempt four
more questions selecting one question from each unit.

Compulsory Question

1. Describe the following in short :
(a) Slide.
(b) Slide Transition.
(¢) Autotext.
(d) Workbook.
(e) Active Cell.
(f) IF function. 8

UNIT-I

2. (a) Is it possible to add a movie in a slide ? If yes, state
steps for this.

(b) State steps to set display time of slides in a presentation.
(4x2=8)

815/2,000/KD/110 [P.T.O.
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(a) What do you mean by Handouts ? Briefly describe their
utilization and implementation in PowerPoint.

(b) Briefly discuss features of Outlook Express. (4x2=8)

UNIT-II

Briefly discuss the following featurs in MS-Word :
(a) Thesaurus.
(b) Autotext.

(¢) Header and Footer. (3+2+3=8)

(a) Briefly discuss Mail merge feature in MS-Word.

(b) Write steps to apply Spellcheck feature in MS-Word.
Briefly describe various options available with it.
(4x2=8)

UNIT-11I

Briefly describe the following features of MS-Excel :
(a) Inserting a worksheet in a workbook.

(b) Changing cell width.

(c) Rotating text in a cell.

Write steps for each of these. (3+2+3=8)

Write steps to apply following in MS-Excel :
(a) Freezing cells.
(b) Finding and Replacing data.

(¢) Copying data. (3+3+2=8)

(a)

(b)

(a)
(b)

UNIT-IV

What do you mean by Macros in Excel ? Write steps to
run a macro.

Briefly discuss ‘What-if analysis’ feature in Excel.
(4x2=8)

Briefly describe 8&»26 types of charts in Excel.

Briefly describe the following functions in Excel giving
suitable example :

(i) Max.

(ii)) Count. (4x2=8)

815/2,000/KD/110 3
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BIOTECHNOLOGY
(Introduction to Biotechnology)
Paper-1 6.
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Q. No. 1 and four others selecting two questions
from each unit.

1. Write short notes on the following :
(a) Immobilized enzymes.
(b) Minisatellites.
(c) COD and BOD.
(d) Patents, (4%2=8)

UNIT-1

2. What are the Monoclonal bodies ? How are they produced ?
8

3. What do you mean by Recombinant DNA technology ?
Discuss the different steps used in production of Recombinant
DNA. 8

4. Describe briefly :
(a) Embryo transfer technology.

(b) Application of Plant tissue culture. 8

UNIT-II

Discuss the applications of Biotechnology in Agriculture and
Medicine. 8

What is Bioremediation ? How it can be used to reduce soil
and water pollution ? 8

What is Intellectual property ? What rights are available to
protect it ? Discuss briefly. 8

821/2,500/KD/116 [P.T.. 821/2,500/KD/116 2
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GSE/D-17 822
BIOTECHNOLOGY
(Biochemistry-I)
Paper-II
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt two questions from each unit. All
questions carry equal marks.

Compulsory Question

1. Explain the following briefly :
(a) Epimers.
(b) Glycoproteins.
(¢) Insulin.
(d) H-bonding.
(e) Asymmetric Carbon.
(f) Denaturation of DNA.
(g) Peptide bond.
(h) ATP. (1x8=8)

822/2,500/KD/117 [P.T.O.



UNIT-1

2. (a) Define Polysaccharides. Describe the structure and

functions of any two polysaccharides. 4

(b) What are Mucopolysaccharides ? Give a brief account

of the structure and functions of Hyaluronic acid and

Chondroitin sulphate. 4

3. (a) Define Peptide bond. Describe the structure and

functions of any three biologically important peptides.

4

(b) What are Disaccharides ? Explain the structure and

functions of lactose, sucrose and maltose. 4

4. (a) Define Biomolecules. Discuss the important features of

biomolecules. 4

(b) Briefly discuss optical and chemical properties of amino

acids. 4

UNIT-II

5. (a Classify Proteins on the basis of their structure and

functions. 4

(b) What are Waxes ? Explain the structure and functions

of some important waxes. 4

6. (a) Define Nucleic acids. Discuss the structure and

nomenclature of nucleosides. 4

(b) Define Lipids. Discuss the structure and functions of

phospholipids. 4
822/2,500/KD/117 2

7. Write short notes on the following :

(a) NAD.

(b) Rancidity.
(c) Glycolipids.
(d) Steroids.

822/2,500/KD/117 3
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w1 F Ao S § 7 GSE/D-17 1169

. HYGIENE & PROMOTIVE HEALTH

I Paper 102

9. How can school hvgiene

vm
@Al W ERE Eeed & (®

Time : Three Hours] [Maximum Marks : 40

Note : Q. No. I is compulsory. Attempt Five questions in all,

selecting at lenst vie question -from each Unit. All

questions carm

. PR S - e Tt T
9P OHE 1 AT T O YE® IFET U OFE g EH=Y
WEh 9YA =T TN, KA G WA F

YA F e oW v

o

Compulsory Question

(2

1. Define and explain any cight of the following :
(i)  Immunity
{i1) Rest
(ii1) Mental healths
(iv) Personal hvgiene
(v)  Vaccination
(viy WHO

(vil) Pulse Polio

L-1169 4 2,800 (2-06/12)1.-1169 P.T.0.



(vii) AIDS

(ix) Hepatitis

(x)  School Hygiene.

frafafas o @ freal o @ AR FIET 997 H

(G) ;M e e

(1) =R

(1i1) OF
(iv) Tt w=s
(v) TR

(viy WHO

(vii) Tem dfer

(vii) TE

(ix) TP 7N «u.ﬂwu@lﬂ\
() fommers =1

Describe in detail mode of spread. symptoms, prevention
and treatment of disease dengue spread by insect bite.
et & HE § RN I AW T % wer w e, A,
IaR e g9 w7 fogd faeE wi |

Discuss mode of spread. symptoms prevention and
treatment of polio.
T, YR

4. How is the disease tetanus caused. spread, prevented and
treated ? Explain in detail.
= TR, s, TEGH ad IER
5. \Write causes. svmptoms. mode of spread, prevention and
wreatment of diarrhoea.
T F EEO, GET, FE, THGM A TR F AR
T fafEn |
Unit I
ECIE ||
6. Give classification of immunity. What is the importance
of immunity in human life 7 Give vaccination schedule.
T fee wEe F Ffen | T AU A )
o SEE § N TR B SR &1 AT ol
7. Write short notes on any nvo of the following
(i} Positive health
(ii)  Mental health
(111) National health programmes.
H g fadl 1 W HEw :
(1)
(i) #EMEE® @R
(i) W e FAET |
(2-06/13)L-1169 3 , P.T.O.



ROII No. ..corvirvrrcncenransenne Total Pages : 03

GSE/D-17 1170
INTRODUCTION TO TEXTILES
Course 103
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting two questions

from each Unit as well as compulsory question.

ded W WY TAF TEE W S W YT g
FA T WA B SW GfeT |

Compulsory Question
( tfremd o)

1. 'Write short notes on the following :
(a) Fiber
(b) Textile
(¢) Twist
(d) Knotting. 2x4=8
frefafes w dfiw foufier fafae -
(1) w@m
(¥) IFHeRd

(|) gum
() S Y |

(2-51/7) L-1170 P.T.O.



Unit I

ECAER

Explain the characteristics of any one natural plant fiber

of your choice. 8
S TR & fdt o T Thfee amehe W # o
] SRS HIC |

Discuss the manufacturing process of wool. 8

1 & AR fafy w1 sem #ifvm

Write down the properties of polyester fiber. 8
e W wt fovwaet w1 faftew |

How the sield fiber is important to consumer ? 8

el & fa W w W s9 wewy! € 2

Unit ITI

ECAE I

What do you mean by yarn ? Explain different types of
yarns. 8
Uil & w® oo § 2 e fafve weR sany |

Explain plain weave and its types. 8

GRT g8 q THR YN T A HifST |

L-1170 2

8. Discuss knitting technology in detail.

fafen st # fomr ¥ =men w$if

9. Write short notes on the following :
(a) Bonding
(b) Nettling.
frefafed = dfra femfrar fofeae .
(&) afen
(9) ==fam |

(2-51/8) 1-1170 3
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~ GSE/D-17 1173
INTRODUCTION TO HUMAN
DEVELOPMENT
Course 106
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least nyo
questions from each Unit. Q. No. 9 is compulsory.
TF TFE W & U g EC, H uE W ® 3w
T | v w9 sfEd @

Unit I
TS 1
1. Discuss the importance of study of Human Development.

How study of Human Development is helpful to parents
and teachers ? 8
A fohE ® stemem # WewW W o=9l ®ifen | Aee
*ﬁﬂﬁﬁﬁﬁﬁ?ﬁmﬁ%@mﬁ%g@mg
WEE T ?

2. Write short notes on the following :
(i)  Growth and Development 4
(i) List the stages of life span with age. 4

2-07/4) 1.-1173 . PO,




M F& w fawm |
(i) SR safy s oy Wi g wmw o

Discuss the historical trends in the field of EEES,

3.
Development with special reference to the medieval
viewpoint. 8
o s % favw 9ol § 9 fem & a4y o
ifeerfas ol =) 9= Hifw |
4. What is the difference between growth and development ?
Elaborate with examples. 8
e o form F # om ¥ 2 s AW fawm
i |
Unit I1
ECAES ||
5. Wriie short notes on the following : ,
{ij  Observation Method 4
f11)  Cross-sectional Method. 4
wR dfyw fewfrel fafea .
() Trlwer fafy
(i) wHwEE fafy
L-1173 2

6.

Write an essay on puberty w@:? .. 8
Ty it W T ey fafae |

Discuss common emotions of babyhood. 8

TeAEER H WER A & == #ifaw |

List the principles of development and write in detail
about any two. 8
fom = fagrdl =t 3= amEw ol freli @ w1 freawgd®
o Hifww |

Compulsory Question

(st wv)

Attempt any- four briefly : _ 2x4=8

(i)  Cephalocandal and Proximodestal development

(i) Physical development in babyhood

(iii) Case Study method

(iv) Role of environment in development

(v) Jealousy in children.

= wr % dfvw sw fafan .

) R F R A Ny o g v B R
o

(i) wcomreer H Wil fawm

(i) =afe st fafy

(v) fowm o wafaor =t gfie

(v) s==af # def

(2-07/5) 1-1173 . 3 450
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BCA/D-17 1227
COMPUTER & PROGRAMMING
FUNDAMENTALS
BCA-TII

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, selecting at least one
question from each Unit. Q. No. 1 is compulsory.

Compulsory Question

1. (a) What do you mean by CPU 7 2
(b)  What is the purpose of ROM ? 2
(¢)  Define Software. 2
(d)  Define Computer Virus. 2
(¢)  What is Merging ? 2
(f)  Define Language Translator. 2
(g)  What do you mean by Computer Program ? 2

(h)  Define output devices with the help of suitable

examples. 2
Unit I
2. (a) Define Computer. 4
(b)  Also write down the characteristics of a Computer.
12

(2-01/5) 1-1227 P.T.O.



3. (a) What do you mean by Memory ? 4
(b)  Explain Memory Hierarchy. 12
Unit 11
4. (a) Define an operating system. 4
(b) Discuss the functions of an Operating System. 12
5. (a) Define input devices. 4
(b) Explain any rhree input devices. 12
Unit 111
6. Discuss the concept of Program Design in detail. 16
7. (a) What is an Algorithm ? . 4
(b) Write an algorithm to find the average marks of a
class of 60 students in the subject of Computer
Science. 12
Unit IV
§. (a) What do you mean by Scarching ? 4
(b) On what type of lists Binary Search Algorithm is
applicable ? 2
(¢)  Write down the algorithm for Binary Search Method.

10

9. Write down the characteristics o a good programming

language. 16

1-1227
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i0.

‘Q\.
Write a letter to the Postmaster of your town complaining

against the irregular delivery of letters. 16

Develop one dialogue-based paragraph of about 206 words

on the situation given below : 16

Facing an Interview for a Job
Or
Greeting Guests at a Wedding Party
Or

Getting & Bank ATM card issued

UnitVv

information 'mde: RTI
Act, 2005 7 How do the Public 'nformation Officers

What is the procedure to seex

appointed as per the provisions of the RTI Act function ?
What sort of information can they provide under the
Act? - 16

How do the Appeliate Authorities appointed as per the
provisions of the RTI Act function ¥ What are the terms
and conditions of the appointment of the members of
State Information Commission(s) and Central Hsmon.smno:

Oo::EmmHos ? 16

L-1231 : 6 - 3,250

ROIINO. cueeeeeeerierenneensenns

Time : Three Hours]

Total Pages : 06

BCA/D-17 1231

OOEGZHG>HH<m_ ENGLISH
BCA-115

[Maximum Marks : 80

Note : Attempt Five questions in all, selecting at least one

question from each Unit. All questions carry equal

marks.

Unit I
1.  What is the role of the tea DQ, in the Gandhian scheme
of education ?
G
Bring out the owaBmEu of humour in the play ‘Rory
Aforesaid . . 16
". (&) Why did Grigory Petrov wish to live another life
again ?
Or
What made Foreman think of opening a tobacco
shop ? : . 4
{(3-02/1y 1.-1231 : P.T.0.



(b)y How does man treat the animal ?

Or
What does Narayan say about admissions in our
educational institutions ? 3
(¢) Why does the average man take everything for
granted ?

Or
What does the exercise of the spirit according to
Gandhiji. depend on ? 3
(d) How did Ranji lose the ‘magic’ bat ?
Or ,
fIow did the village boys treat old Bapu when he
was a smell boy ? 3

(e) What did Maclntosh advise Rory to do in the court ?

Or

Why were Jacob and Marthe ready to do anything
to save the life of Dr. Kraus 7 3

Urit il
3. Read the passage given below and answer the questions

that follow

Avoiding the other players, Ranji walked siowly
homewards, head down, hands in his pockets. He was

1-1231 2

quite upset. He had been trying so hard m:ﬂ, practising so
,Hamﬁm&w but when an important game ¢ame along, he
failed to make a big score. It seemed there was nothirg
he could do about it. But he loved playing cricket, and he
couldn’t bear the thought of being out of the school team.

Questions :
(a) Name the story and its writer. 4
(b) What did Ranji do ? 3
(¢) Why was he upset ? 3
(d) What was the cause of his disappointment ? 3
(¢) What could he not bear ? 3
4. Write notes on the following :
(a) Advantages of e-Mail 5
(b) Composing and sending a Text Message 5
(¢) Procedure for sending FAX. . 6
Unit ITI
5.  Attemnt any sixieen sentences. Do as directed - 16

(a) Iniert suitable Articles in the biank spaces

(if required) :
1) She plays...... e tennis very well.
(1) e water in tha! stream 1S not suitable

for drincing.

(B e hanpiness is an inner state of mind.
(iv) {ler elder brother is.o...... ...LAS. officer
(3-02/2) L-1231 - 3 P.T.0.



(b)

(c)

L-1231

Use correct Prepositions

@

@)

(iii)

Monty gets up................ five o’clock every
morning.
Those who live................ glass houses should
not throw stones at others.

I prefer a humorous play................ a serious

one.

Fill in the blanks with correct form of Verbs

®
(ii)

(ii)

{iv?

A new car............... {cost) a lot of money.
There................ (be) little hope of his coming
now |
They..coeenn, (hear) somieone opening the
gate

Mr. Yogesh usually.......... w...(g0) to office by
car. ‘

Tag questicns

(1)

—
Pk
S

Change the voice

Sunny reciies & poem

The gardener is watsring die lants
The iourney was not an easy one
ihev nave finished their work.

He easlly lozes his temper.

.ﬂ,:..., e
Please bring mu 2 cup of coffee.

. . .
My teacher helps me in my studies.

The postman delivered him a parcel.

(f) Change the following into Licirect Speech :

(i) He said, “T can solve this difficult sum.”
(ii)  The teacher said. “Honesty is the best policy ~
(i) 1 said to him. “What are you reading these

dayvs 77

(¢g) Insert comparative or superlative degree of th. + ords

(3-0

given in the brackets :

(i)  This book iS..cccourenn (interesting) than the
other one was.

(ii) Everest is the............. (high) mountain in the
world.

(iii) This is the......... (thrilling) story 1 have
ever read.

Write a Paragraph of about 150 words on any onc¢ of the
following topics . 16
(2) Role of computers in modern life

(b) A visit to an International Trade Fair

() Work is workship

(@) 1"e most Exciting Day of your iife.
Unit IV

Write an application to the Principoi of an ¥ngineering
College for the pust of a Computer Instructor giving
complete detail of your academic and professional

aualifications.

wy

2/3) 1.-1231 P.T1.0.
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BCA/D-17 123
PROGRAMMING IN C
BCA-116

re

Time : Three Hours] X [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt four more questions selecting ore question
from each Unit.

1. Fill in the blanks : 8x2=16
@®» Cisa...... level language. |
(i1) Prntf( ) is used for...............

(iii) IF-ELSE is used for.
(iv) Switch is used for........
(v) Recursion is...............

(vi) Continue is used for.

........ e

(vil) Auto is..............
(viii) Extern is...............
+ Unitl
2. Explain various data types in C. 16
3. Explain the following with example : 4%x4=16

(1)  variable

(2-04/9) 1.-1232 : PT.O.

Unit I1
4. Explain various categories of operators in C language. 16
5. Explain type casting and conversion with examples. 16
Unit T

6. What arc various looping constructs in C language 7

Vxpiain the difference between while and do-while looping

construcis with examples. 16
7. What is a function in C ? What is a function
prototype ? Explain how parameters are passed between
two tunctions ? 16
Unit 1V

%) s . . AT i~ n.w
5. is the concept of = :
a various stornge clasies available mn C. I3E

9. What is an Array in £ 7 lain its various tvpes v

NSRS B
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BSIT/D-17 12124
COMMUNICATION SKILLS
BSIT-101 (Paper 1)

Time : Three Hours] [Maximum Marks : 30
Note : Attempt all questions.

1. Answer the following questions :
(i)  What do we mean by Communication ?
(i1) Define ~Teleprinter’.
(iii) What is Group Discussion ?
(iv) Write a short note on Camera.
Change the narration of the following sentences :
(v She said to me, "I saw a stranger in the street.”
(vi) She said to me. “Who teaches you English 77
6x1=6

2. (a) Discuss in brief objectives of Communication.

Or
Discuss the significance of Communication. 3
(b) Write short notes on any fwo :
(i)  Informal Communication
(i)  Written Communication
(ii1) Group discussion
(iv) Dictaphone. 1%%x2=3

(2:20/1) 1-12124 P.T.O.



1.-12124

(a)

(b)

(a)

(b)

(c)

Write a detailed note on e-Mail.

Or
Write a short note on Pager. 3
Write short notes on any two
(i) Minutes of meeting
(i) Television
(iii) Circulars

(iv) Slide. 3

Fill in the blanks with appropriate articles :

(1)  Sixty minutes make................ hour.
(1) Life is not................ bed of roses.
(iii) Arjun is............... Dara Singh of our college.

3Ix¥=1Y%
Fill in the blanks with correct form of verb given

in brackets ;

(1) He.oouoeo... till today (not come).

(i) No sooner did I reach the station than the
train................ (start)

(ii1) He knew that L............. (pass). IxV=1Y

Change the voice of the following :

(1)  This bottle contains ink.

(i)  She kept us waiting.

(iii) She has given me a message. 3xY=1Y

(2-2000) 1,.12

(d) Fill in the blanks with correct Modals

(1> The case is serious, you................ consult the
doctor.

(i) How................ you insult me ?

[GE0) I you live long ! IxVe=1%

Make a precis of the following passage and give a suitable
title :

Good communication skills require a high level of self-
awareness. Understanding your personal style of
communicating will go a long way towards helping you
to create a good and lasting impression on others. By
becoming more aware of how others perceive you, you
can adapt more readily to their styles of communicating.
This doesn't mean you have to be chameleon, changing
with every personality you meet. Instead you can make
other person more comfortable with you by selecting and
emphasising certain behaviours that fit within your
personality and resonate with another. In doing this you
will become an active and patient listener. We should use
non-verbal behaviour to raise the channel of interpersonal
communication. None-verbal communication is often
referred to as body language, facial expressions like smiles,
gestures, eye contact and even your posture. This shows
the person vou are communicating with that you are
indeed listening actively and will prompt further
communications while keeping costly, time consuming

mis-understandings at a minimum. 6
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BSIT/D-17 12126
PHYSICS-1 {EM THEORY)
‘BSIT-103
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least one

question from each Unit. All questions carry equal

marks.

Compulsory Question

Give the meaning and unit of Poynting vector. 2
What is the difference between Gauss's divergence
theorem and Stoke' theorem. 2

Determine the length of an antenna operating at a

frequencies of 300 kHz. 2

Hxplain why radio horizon is at a greater distance

then optical horizon. 2
Unit 1

State Gauss's divergence theorem. Show that electric
field can be expressed as negative of the gradient
of the electric potential, 5

Explain the coucent of displacement ui




3. (a)
(b)
4. (a)
(b)
5. (a)
(b)
6. o)
{bj

1.1vts

Write Maxwell's equations in its differential form
and give their physical significance. 4
Explain the concepts of scalar and vector potentials.

4

Unit i1

What are gauge transformations ? Discuss the
Coulomb gauge and Lorentz gauge with their
importance. 6
Write the relation for speed of electromagnetic waves

in vacuum and for a dielectric medium. 2

Derive the equation of plane electromagnetic wave
in free space and find the intrinsic impedance of
free space. 6
Show that both £ and H are perpendicular to each

other znd to the direction of propagation of wave.

Unit 1
Disciot ihe sowes w0 on R
,_,.»D RN SHEIY u.. 4
Clegiie [ Ve WS, J

Deternie the height of receiving sntenna to onain
a maximum transmission disance of 48.7 km from

a transnussion antenna of height 40 m, Z

7. Explain the following terms as applied 10 sky wave

propagation : 8
(1) Critical frequency
(i)  Vertual height
(i11) Maximum usable frequency
(iv)  Skip distance and skip zone.
Unit IV
8. (a) What are different types of transmission lines °
Discuss the various types of losses occurring in a
transmission line. 6
(b) Determine the characteristics impedance of a
transmission line having L = 0.118 yH/ft. and C =
21 pF/fi 2
9. (a) Discuss the resonant and nor-resonant antennas
along wtih their radiation pattern. &
(b) Current of 54 at a frequency of 5 MHz fAows
through a Hertzian dinole of 30 m Cajculaic
v AT
5
{2-49/13)1.~12126 3 S
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Discuss the operation of a v

D

3
ok ¥

and exniain a D flip-tlop with NAND

R
Latch.

s

508

Total Pages : 04

12127

ReB MO ceirvrreennneiennnercens
BSiT/-17
DIGITAL BELECTRONICS-I
BSIE-104

“ime : Three Hours] [Maximum Marks ; 40

o Attempt Five guestions in all, selecting at least one

£

questicn from cach Unit. Q. No. 1 is compulsory.

o

Explain radix of 2 number system.
()  What is a gray code ? Discuss its advantages over
hinary code.

Discuss application of Flip-Flop.

-~
[¢]
e

-
[o8
=

How a T Flip-flop can be used as a divide-by two

device 7 2x4==8
Unit {
2. (a) Convert the following : 172x3=4%
(1611.011),, = (X); = (Y)g = (L)
(b) Perform the following binary addition. 1%
11011101.101 + 116111 + 110110.01
(3-48/1% § ~12127 PT.O.
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—
~¥

Lovert

(i) (100010111), to gray code.

i+1=2

{11:  Binarv equivalent of the gray code number

iLin101ey,

“winrm the following binary division 2
(1101101), + (101), 5.
Perform the following in 8-bit system using 2’s
coniplement method : 2x3=6
) 49 - 26
(@ 67 -39
(1) - 87 + 112
Unit IT
Using the theorem of Boolean Algebra, prove the
following
. —_— = e 6.
1) (A+BYA+AB)C+ AB+Q)
AB+ABC=A+B+(
) (A+AB)AC+ACA + BB+ 0)
=AB+AC
Obtain the minimal Boolean function of the 7

following using K-map :
1) FiA B, C. D)= Z(0,

L8]

3,5 6,7, 8,9

(a)

(b)

Explain, how AND, OR. NOT gates can be realized
using NAND gates alone. 2
Using K-Map, obtain the minimal POS expression
of the following and implement it with NOR gates
only : 6

FAB,C.D)=1Ta,5,6, 12, 13, 1 Ta-4.
¢

Unit 111

What is a full adder ? Discuss the design of a full
alder using NAND gates. 4
Explain oepration of a 4 - 1 Multiplexer. Discuss

the applications of multiplexer. 4

What is a BCD 16 decimal decoder 7 Draw its logic

(=W

-BIAM anc explair iis working. 4

Wrat is ¢ encoder ? Draw and explain the logic

secimal to BCD encoder. 4

J

izgram

(3-4812) §..12127 3 2.T1.0.
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BSIT/D-17 12128

ELECTRONICS GOZHSGZHO»@HOZ
Paper 1 (BSIT-105)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

Compulsory Question

i. {(a) Why is Modulation necessary in Communication
systems ?
(b)  State the advantages and applications of wEm,,m code
modulation,
i¢)  Why are high carrier frequencies used for
transmission ?

-~
Cas
RN

What is companding and why is it required ?

"
4« €uth

2 tar Whatis Mogeaian o roune amplitude niodulatior

Derive an o w0 determine sige band

frequencies. bor ©and frequency spectrum of

AM. Wave £

SRS N3 3 BT



3. (& What is demodulator ? Draw the linear diode
detector circuit for A.M. and explain its action with
neat waveform sketch. 4
(b) In an FM systems the mﬂo@:ozm% deviation is 10
kHz when the audio modulating frequency is 800
Hz and the audio modulating voltage is 4V, Calculate
the modulation index. Also calculate the frequency
deviation if AF voltage is increased to 8§V while the
modulation frequency is reduced to 400 Hz. 4
Unit IT
4. (@) What is Pulse Modulation ? Describe different types
of Pulse Amplitude Modulation (PAM) in detail. 4
(b}  Describe Sampling theorem for Band-Pass signals,
4
5. Write short notes on the following :
(1) Quantization of signals
(i) Sampling rate
(iii) Natural Sampling. . 3,32
L-12128 .2

,@v - A carrier wave of 500 watts is m:E.QOa to 50%

amplitude modulation. Determine :
(1)  Power of modulated wave

(i)  Power of side bands.

6. (a)
(b)
7. (@
(b)
8. (a)
(b)
9. (a)
(b)

Unit I11

érmﬂ do vou understand by Pulse Code Modulation
(PCM) ? Explain why PCM is more noise-resisiant
than the other forms of pulse-modulation. 4
Draw the block-diagram of PCM transmiticr and

explain its working. 4

Describe the method of generation of Delta-

modulation. 4
What is Delta-Modulation ? Compare Delta
modulation with PCM. 4

Unit IV

What is Digital Communication ? Give different
characteristics of digital communication system. 4
Discuss the band width requirements in a digital
communication system. How does it influence the

trensmission rate ? 4

What is cross talk ? How do we niinimize it ?
What is the use of echo-supressors ¢ 4
What is Echo-concellers device ? What is its use in

digi‘al communication system ? 4

(2-20/6) 1-12128 3 : S60



(b ifferer: - e
(o) Differentiate between Primary and Secondary
ROI NG, coveveecnnracrcorssnnace Total Pages : 02 : Memory. 8
“— s 3 e p : . “
3SIT/D-17 12124 | 5. (a) Discuss Cache Memory and its use
- ) e T - . ’ K / ‘. ) .
COMPUTER FUNDAMENTALS (b} Write a note on Magnetic bubble memory. 8
BS1I-106
Unit 111
Time : Three Hours] [Maximurm: Marks : 40
@- b s Ny N
(@)  Define System Software and Application Sofiware
Note : Auempt Five questions in all, selecting one question {b) Dis fi : .
x : , cuss lirmware and middle ware, 8
from each Unit. Q. No. 1 is compulsory.
Ty i 3855 v rnaae poph e d
7. Hxplain development steps of a software, g
1. (a) Name four hardware and four softwarc.
(b} Define hardware and software. Unit IV
(¢) Write four characteristics of Computer. 8. Discuss Ieclh o e .
P Discuss mﬂwrmmywﬂww ana mwxﬁmmtﬁ any three acoessories 8
(dy Write a note on Third Generation Computers. .
%. In context of discuss :
Unit I ia)  format
2. Define block diagrani of a computer and explain major , 8
parts. v &
3. (a) Wrnie a note on Supercomputers.
(b) Write a note on fourth generation computers. 8
Unit [T
4. (a) Writing ing of Magnetic Disk.
L-iz12¢9 3
22007 §o37130 WO . . - st
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BSE/D-17 16502

LITERATURE IN ENGLISH (1550-1660)
Paper : 11

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1, Question
No. 5(a) and Question No. 5(b) are compulsory. Attempt
any two questions from Section-B.

SECTION-A
1. Explain with reference to the context any three of the passage
given below.
(a) Sure, if that long with Love acquainted eyes
Can judge of Love, thou feel'st a lover's case;
I read it in thy looks; thy languish’d grace
To me that feel the like, thy state descries.
(b) As virtuous men pass mildly away,
And whisper to their souls, to go,
Whilst some of their sad friends do say,
The breath goes now, and some say, no.
(c) I have seen roses damask'd, red and white,
But no such roses see I in her cheeks,
And in some perfumes is there more delight.

Than in the breath that from my mistress reeks.

16502/700/KD/470 (P.T.O.



(d) My face in thine eye, thine in mine appears,
And true plain hearts do in the faces rest,
Where can we find two better hemispheres
Without sharp north, Without declining west ?
Whatever dies, was not mixed equally;
If our two loves be one, or, thou and I
Love so alike, that none do slacken, none can die.

(3x8=24)

SECTION-B

Note : Attempt any two questions from this section.

2.

Discuss Sir Philip Sidney as a Sonneteer with reference to his
sonnets prescribed in your syllabus.

The theme of friendship finds a mature expression in
Shakespeare's sonnets. Elaborate with particular reference to
the sonnets in your syllabus.

What is meant by metaphysical poetry ? Illustrate Donne's

use of metaphysical imagery from his poems that you have

read. (2x14=28)
SECTION-C

(a) Write a note in about 400 words on any two of the authors
given below :

(i) Francis Bacon.
(i) John Webster.
(iii) Ben Jonson. (2x6Y2=13)

16502/700/KD/470 2

(b) Write a note in about 200 words each on any three of
the literacy works given below :

(i) Shakespeare — Othello.

(i1) Norton and Sackville — Gordobuc.

(iii) Robert Burton — the Anatomy of Melancholy.

(iv) Sir Thomas Browne — Religio Medici. (3x5=15)

16502/700/KD/470 3
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BSE/D-17 16524
SANSKRIT
(Kadambri Vasavdutta Cha)
Paper-I1
Opt. (i)
Time : Three Hours] [Maximum Marks : 8¢

ANz ;. oft wew fEd

1, frafafas g = 3% few .

(F) T F qF F T AR B

(@) Y™ S §?

(M) W I G "W T BA-T 0 TS fEE?

() UM FT GEF T H F AW E?

(F) ‘argaEs’ w17 &1 fFE faw @ arpilm emn #7

() SHEEE w7 87

(B) TR A B

(W) ‘aaeT’ E TY H fFR EEN FT YN g §7
(Bx2=16

2, T ot mEel & OwEN STER FIfWC
(F) T SHAARIUT- FTAROT, STERa- SIS aw s :
; ; e e e
EAAHRIF | ZIATRATEIE Tt gy
THRUY Tl Feumty SiavrmTsd sEfal ety

YRt |
16524/100/KD/1806 [P.T.O.



(@) SR ¥ yreufifawe: aftumg fafsemfy @

o FagiasEen qAfdeTs ageRe) I3 9 @ FTe:
ARG ARERvaTd T Setweesa fagreh
wafd sedEg widETRETE L STeTaEi §EAE
TRfeEfERyey: yafea: 9. s=ifee |,
T @, Mg w, s @@, afufew @,

wEFd T, eiE @, spfen TE, s ged
feormn eS|

firm 3 Tt et o) T=geT= @ faEen

TRE | ST TREET FUA AR W GEAGH -
g Egarsts o gaerrEaiTeEeE uiemetiE
T T T WS

(@) @ | feEfregamyamary A faaaeararfa sfa)
FTeafEATee  faaesrery frawfe o= @en
TR Tt AfTeguE e & swafy
YERSIH| F TEISE gatreqe gmef:| gerfe- i,
JaFEaN!, ngAEnsty mefoa, sfewgfy wewa:,
T T8 wgeneaisft R Eisfy 7w
SeErfal

(M Wt faser@ | foewe faferm famaR w9m) wifafy
faereafa fafgaageay geargoifrrm) vffn e )
T AfEHEATEET THRYRY| GHR FEid | 6
ARHIH  arfasd| fusaesd gius! 9ERd
AefeearergRrRaEar T srate ) e W
fum, ey, fefufy demms 7 el
fafirn

5. ‘amEEa’ w1 gfa-faaw sfifs sifsw

g # =-9e afvia wifew
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BSE/D-17 16525
POLITICAL SCIENCE
(Indian Constitution)
Paper: (I)
Opt : (i)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from
each unit. Question No. 1 (short answers) is compulsory.

Az : TOF WE W T WA TN L, T WS T B IW
A v FEw | (i) ofEd # wh we
FF g9 #

(b)

(c)

(d)

(e)

Compulsory Question
(frard uv)
What was the main function of Constituent Assembly?
dfgy™ |9 1 T G FE oA ?

Give the name of two persons who enacted
constitution.

Hfaum & fmion & el @ safwal $ T o
What do you mean by fundamental duties ?
Hferr w1 o ol § 2

What do you mean by joint electorate system?
T A OTe w1 e e ® 2

Explain two powers of Vice-President of India.

IRafa w1 viEE @ g W)

16525/250/KD/1592 [PTO.



(f)  Write two causes responsible for the downfall of
Parliament.

TR H T ® Y HRO )
(8)  What are the two constitutional independent Agencies

dfaym #1 = ¥ o= genst & W fag)

(h) What is Defection ? (8x2=16)
A A FY w2
UNIT-I (3&FE-1)
Explain the preamble of Indian Constitution. 16
IR WAYE F1oyEmE gl #w)
Explain fundamental rights.
e SR w1 Tl w=¥)
OR (37¥an)
Explain the meaning, aims and types of directive principles
of state policy. 16

TTHfa & five fagrl &1 od, g 3 wR w
O F

UNIT-II (§ohTg-11 )
Explain the appointment and powers of Prime Minister
of India. 16

IRA ® WaEEEl # fafE 9 vfiE @ g el

Explain the appointment and powers of Governor. 16

T F fafe 3 viws & 9ol w4

16525/250/KD/1592 2

UNIT-III ( $ehT8-1I1 )

6. Explain the composition and powers of Parliament. 16
qOg I T 3 ufEa w1 g0 #wW

7. Critically examine the amendment procedure of Indian
Constitution. 16
IR Wiy § G IR # SerETers oo sl

UNIT-IV (¥&E-1V )

8. Explain the composition and powers of High Court. 16
3= A H T A O T FuE Hwi)

9. Write the provisions for protecting the independence of
Judiciary in Indian Constitution. 16
AR F T 9 @ F e frr T dftem §
TEYM & FUiE Fl

16525/250/KD/1592 3



TR oEER WE # fee faEme -

RINT e Total Pages : 6
aq
()= BSE/D-17 16526
(F) =N POLITICAL SCIENCE
(Principles of Political Science:
(W) ®: Paper-II
S

=) T.~—: T--:z:2 Hours] [Maximum Marks @ 80

(h) “Rule of Law" is unigue features of :
. , o Note : auempt any five questions. All questions carry equal
(i) China Consttution

.P/m
(i) English Consurton Tz . 5= ofe v @ oW AR wh wE F 9F T
(iiiy North Korea Consttution ¥

i

(iv) Indian Constitution. ix2=16; . ) . .
1. Discuss meaning, nature and scope of political science. 16

FE w UET TF A T fogm ® @, YR T e F AU R

(31) ¥ T wfaud . . :
3. Discuss the relations between Political Science and History.
(3) few dfaum 16

(F) S| FA H AfEH Tt e A TR ¥ WS T F A HIN

(%) 9E A gfaaE| 3. Define state. definition and its relation with other
organisation. 16

dﬂ,ﬂ%%ﬁﬂaﬁﬂﬂaﬂﬁﬁﬂ%ﬂﬂ&
T T FEC

4. Discuss the social contract theory about the origin of state.
16

= W It gy ¥ gEtes waEh % fagr
o HITE
16526/200/KD/1309 [P.T.O.

16526/200/KD/1309 6



Through light on the Pluralist Approach of sovereignty.
Discuss its features also. 16

SR FT TEOAR! AN W N T, 39 faeary
=1 Famel|

What do you mean by Welfare state ? Its features and
criticism. ) 16
T FEER T O N WE 3 ToEd
faerwaelt & snaet w1 e #fww

Which are the main organs of Government ? Discuss the
function of any one. 16

TER & G &1 %8 ¢ 2 5@ uw o # e w5

ITE  Hifag)

Highlight meaning, merits and demerits of Pressure group.
16

T FE F A4 TI TV T I w1 IeonE wfwm

Objective types questions.

TAR  T¥

(a) Political science is not a science. Who said ?
(i) Bryce
(i) Pollock
(iii) Buckle

(iv) Gilchrist.

16526/200/KD/1309 2

(b)

(c)

16526/200'KD 1309 3

Tofa faam, faem 7Y %1 37w frmew om
(&) 3159
() I5F

(B) 757

Who define “Divine Theorv™ first time ?

(i) Louis XIV

(i) Laskd

(i11) James-I

(iv) Luther.

T fagm W YR T e fRE R Y
(80) T =g

(9) w=t

(R) 9= 9

(2) T

All powers are powers of God, who said ?
1) Bodin

(1) Sant Paul

(i) Austin

(iv) Hobbes.

[P.T.O.



T9 vfwmal YR w1 ufwal € 98 % feaw 2 M Al T9 W INE B fRe fag ® gudw

(%) S #
(F) I= T (31) T
(W) snfees () | woei
(%) el (%) Terprearst
(d) “I am the state” is Associated with : (=) .ml el
@) Laski (f)  Who criticize Principle of Sovereignty given by Austin ?
(i) Karl Mark's

(i) Louis XIV
iil) Hobbes
(i) Austin (i)

(iv) Hobb (iii) Sir Hanery Man
iv obbes.

(iv) Bodin.
TE T e e b AT & o fagm ®1 EeE R w5
(s e () F A
) = (F) BT="
(%) s (¥) | 0 W
(%) wfeA (%) e
(e) John Lock is supporter of which theory of state ? (@) According to Garner how many features are of
(i) Divine Sovereignty ?
(ii) Social contract (i) Two
(iii) Evolutionary (i) Four
(iv) Class struggle. (i) Six

(iv) Eight.
16526/200/KD/1309 4 16526/200/KD/1309 5 [P.T.O.



